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PART – I : PHYSICS 
1. In a particular system, the units of length, mass and 

time are chosen to be 10 cm, 10 g, and 0.1 s 

respectively. The unit of force in this system will 

be equivalent to: 

 (1) 1/10 N (2) 1 N 

 (3) 10 N (4) 100 N 

2. Which of the following does not have the 

dimensions of force? 

 (1) Potential gradient 

 (2) Energy gradient 

 (3) Weight 

 (4) Rate of change of momentum 

3. The figure shows vertical section of a frictionless 

surface. If a block of mass 2 kg is released from 

position A, then its kinetic energy when it reaches 

position C is: (Take g = 10 ms–2) 

 

 (1) 180 J (2) 140 J 

 (3) 40 J (4) 280 J 

4. A mass m is revolving in a vertical circle attached 

to the end of a string of length 20 cm. By what 

value does the tension of the string at the lowest 

point exceed the tension at the topmost point? 

 (1) 2 mg (2) 4 mg 

 (3) 6 mg (4) 8 mg 

 

 

1. ,d fo'ks"k ç.kkyh esa] yackbZ] æO;eku vkSj le; dh 

bdkb;ksa dks Øe'k% 10 lseh] 10 xzke vkSj 0.1 sec. 

pquk tkrk gSA bl ç.kkyh esa cy dh bdkbZ ds cjkcj 

gksxk% 

 (1) 1/10 N (2) 1 N 

 (3) 10 N (4) 100 N 

2. fuEufyf[kr esa ls fdlesa cy dh foek,¡ ugha gksrh gSa\ 

 ¼1½ foHko ço.krk 

 ¼2½ ÅtkZ ço.krk 

 (3) otu 

 ¼4½ laosx ds ifjorZu dh nj 

3. vk—fr ,d ?k"kZ.k jfgr lrg ds Å/okZ/kj [kaM dks 

n'kkZrh gSA ;fn fLFkfr A ls 2 kg æO;eku dk ,d 

Cy‚d NksM+k tkrk gS] rks fLFkfr C ij igq¡pus ij bldh 

xfrt ÅtkZ D;k gksxh\ ¼yhft, g = 10 ms–2
½ 

 

 (1) 180 J (2) 140 J 

 (3) 40 J (4) 280 J 

4. ,d æO;eku m 20 cm yackbZ dh ,d Mksjh ds var ls 

tqM+s Å/okZ/kj o`Ùk esa ?kwe jgk gSA lcls fupys fcanq ij 

Mksjh dk ruko lcls Åijh fcanq ij ruko ls fdl eku 

ls vf/kd gS\ 

 (1) 2 mg (2) 4 mg 

 (3) 6 mg (4) 8 mg 
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5. A dog runs 120 m away from its master in a 

straight line in 9.0 s and then runs halfway back in 

one.third of the time taken for the first part of the 

journey. Calculate its average speed and its 

average velocity. 

 (1) 15 m/s, 5 m/s (2) 5 m/s, 15 m/s 

 (3) 5 m/s, 5 m/s (4) 15 m/s, 15 m/s  

6. A body of mass 1 kg under goes a perfectly elastic 

head.on collision with a stationary body of mass 3 

kg. After the collision, the smaller body reverses 

its direction of motion and moves with a speed of 

2 m/s. The initial speed (in ms–1) of the smaller 

body before the collision is: 

 

 (1) 2 (2) 3 

 (3) 4 (4) 1 

7. A body of mass m moves with velocity v on a 

surface whose friction coefficient is µ. If the body 

covers a distance s before it stops, then v will be: 

 (1) 2 gs   (2) gs   

 (3) gs / 2  (4) 3 gs   

8. A rocket ejects gases at the rate of 10 kg/s with a 

speed of 5 m/s. The force on the rocket is: 

 (1) 10 N (2) 5 N 

 (3) 20 N (4) 50 N 

9. A torque of 2 N.m produces an angular 

acceleration of 2 rad/s2 in a body. If its radius of 

gyration is 2 m, its mass will be: 

 (1) 2 kg    (2) 4 kg (3) 
1

 kg
2

 (4) 
1

 kg
4

  

10. A particle moving on a horizontal circular path 

travels first one third part of circumference in 2s & 

next one third part in 1s. Average angular velocity 

of the particle is (in rad/s): 

 (1) 
2

3


   (2) 

3


  (3) 

4

9


 (4) 

5

3


  

5. ,d dqÙkk vius Lokeh ls 120 m nwj ,d lh/kh js[kk esa 

9.0 s esa nkSM+rk gS vkSj fQj ;k=k ds igys Hkkx ds fy, 

fy, x, le; ds ,d frgkbZ esa vk/kh nwjh r; djrk 

gSA bldh vkSlr pky vkSj vkSlr osx dh x.kuk 

dhft,A 

 (1) 15 m/s, 5 m/s (2) 5 m/s, 15 m/s 

 (3) 5 m/s, 5 m/s (4) 15 m/s, 15 m/s 

6. 1 kg dk æO;eku dk ,d 3 kg ds fLFkj æO;eku ds 

lkFk iwjh rjg ls izR;kLFk vkeus&lkeus dh VDdj ij 

tkrk gSA VDdj ds ckn] NksVh oLrq viuh xfr dh 

fn'kk dks myV nsrh gS vkSj 2 m/s dh xfr ls pyrh 

gSA çkjafHkd xfr ¼ ms–1
 esa½ VDdj ls igys NksVs 

nzO;eku dk gS% 

 (1) 2 (2) 3 

 (3) 4 (4) 1 

7. æO;eku m dk ,d fiaM ,d lrg ij osx v ds lkFk 

pyrk gS ftldk ?k"kZ.k xq.kkad µ gSA ;fn oLrq #dus 

ls igys s nwjh r; djrh gS] rks v D;k gksxk\ 

 (1) 2 gs   (2) gs   

 (3) gs / 2  (4) 3 gs  

8. ,d j‚dsV 5 m/s dh xfr ls 10 kg/s dh nj ls xSlksa 

dks ckgj fudkyrk gSA j‚dsV ij cy gS% 

 (1) 10 N (2) 5 N 

 (3) 20 N (4) 50 N 

9. 2 N.m dk ,d cy vk?kw.kZ ,d oLrq esa 2 rad/s2
 dk 

dks.kh; Roj.k mRiUu djrk gSA ;fn blds ifjHkze.k dh 

f=T;k 2 m gS] rks bldk æO;eku D;k gksxk\ 

 (1) 2 kg    (2) 4 kg (3) 
1

 kg
2

 (4) 
1

 kg
4

  

10. {kSfrt o`Ùkh; iFk ij pyus okyk ,d d.k ifjf/k ds 

igys ,d frgkbZ Hkkx dks 2s esa vkSj vxys ,d frgkbZ 

Hkkx dks 1s esa ;k=k djrk gSA d.k dk vkSlr dks.kh; 

osx ¼ rad/s esa½ gS% 

 (1) 
2

3


    (2) 

3


  (3) 

4

9


 (4) 

5

3


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11. A fixed volume of iron is drawn into a wire of 

length L. The extension produced in this wire by a 

constant force F is proportional to: (assume 

Hooke's law is valid) 

 (1) 
2

1

 L
 (2) 

1

 L
  

 (3) L2 (4) L 

12. A simple pendulum suspended from the ceiling of 

a train has a period T when the train is at rest. 

When the train accelerates with a uniform 

acceleration a, the period of oscillation with 

respect to a passenger inside the train will: 

 (1) increase (2) decrease 

 (3) remain unaffected(4) become infinite 

13. The magnifying power of a simple microscope is 

3 when the image is formed at the least distance of 

distinct vision (25 cm). The focal length f of the 

lens (in cm is:) 

 (1) 12.5 (2) 25 

 (3) 50 (4) 25 < f < 50 

14. In Young's experiment, one of the slits is covered 

with a transparent sheet of thickness 3.6 × 10–3 cm, 

due to which the position of the central bright 

fringe shifts to a position originally occupied by 

the 30th bright fringe. If  = 6000 Å, find the 

refractive index of the sheet. 

 (1) 1.5 (2) 1.2 

 (3) 1.4 (4) 1.6 

15. A parallel plate capacitor is charged by a battery. 

After charging the capacitor, the battery is 

disconnected and a dielectric plate is inserted 

between the plates. Which one of the following 

statements is not correct? 

 (1) Increase in the stored energy 

 (2) Decrease in the potential difference 

 (3) Decrease in the electric field 

 (4) Increase in the capacitance 

 

11. yksgs ds ,d fuf'pr vk;ru dks yackbZ L ds rkj esa 

[khapk tkrk gSA bl rkj esa fu;r cy F }kjk mRiUu 

foLrkj fuEu ds lekuqikrh gksrk gS% ¼eku yhft, gqd 

dk fu;e ekU; gS½ 

 (1) 
2

1

 L
 (2) 

1

 L
  

 (3) L2 (4) L 

12. Vªsu dh Nr ls fuyafcr ,d lk/kkj.k yksyd dk 

vkorZdky T gS tc Vªsu vkjke ij gSA tc Vªsu ,d 

leku Roj.k a ds lkFk xfr djrh gS] rks Vªsu ds vanj 

,d ;k=h ds laca/k esa nksyu dh vof/k gksxh% 

 (1) o`f) (2) deh 

 (3) vçHkkfor jguk (4) vuar gks tkuk 

13. ,d lk/kkj.k lw{en'khZ dh vko/kZd 'kfä 3 gksrh gS tc 

çfrfcac Li"V –f"V (25 cm) dh de ls de nwjh ij 

curk gSA ysal dh Qksdl nwjh f ¼ cm esa%½ 

 (1) 12.5 (2) 25 

 (3) 50 (4) 25 < f < 50 

14. ;ax ds ç;ksx esa] fLyV~l esa ls ,d eksVkbZ 3.6 × 10–3 

cm dh ikjn'khZ 'khV ds lkFk doj fd;k x;k gS] 

ftlds dkj.k dsaæh; mTToy fÝat dh fLFkfr ewy :i 

ls 30 oha mTToy fÝat }kjk dCtk dj yh xbZ fLFkfr 

esa cny tkrh gSA ;fn  = 6000 Å] 'khV dk viorZukad 

Kkr dhft,A 

 (1) 1.5 (2) 1.2 

 (3) 1.4 (4) 1.6 

15. ,d lekukarj IysV la/kkfj= ,d cSVjh }kjk pktZ fd;k 

tkrk gSA la/kkfj= dks pktZ djus ds ckn] cSVjh gVk 

nh tkrh gS vkSj IysVksa ds chp ,d ijkoS|qr IysV Mkyh 

tkrh gSA fuEufyf[kr esa ls dkSu&lk dFku lgh ugha 

gS\ 

 (1) laxzfgr ÅtkZ esa o`f) 

 (2) foHkokarj esa deh 

 (3) fo|qr {ks= esa deh 

 (4) /kkfjrk esa o`f) 
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16. A ball of mass 1 g carrying a charge 10–8 C moves 

from a point A at a potential of 600 V to a point B 

at zero potential. The change in its kinetic energy 

is: 

 (1) –6 × 10–6 erg (2) –6 × 10–6 J 

 (3) 6 × 10–6 J (4) 6 × 10–6 erg 

17. The potential difference between A and B [VA –

VB] in the figure is: 

 

 (1) 24 V (2) 14 V 

 (3) 32 V (4) 48 V 

18. In the circuit shown, the resistance of the voltmeter 

is 10,000 ohm and that of the ammeter is 20 ohm. 

The ammeter reading is 0.10 ampere and voltmeter 

reading is 12 volt. Then R is equal to: 

 

 (1) 122  (2) 140  

 (3) 116  (4) 100  

19. Two thin lenses of focal lengths 20 cm and 25 cm 

are placed in contact. The effective power of the 

combination is: 

 (1) 45 dioptres  

 (2) 9 dioptres 

 (3) 1/9 dioptre  

 (4) 6 dioptres 

 

16. 1 g æO;eku dh ,d xsan ftlesa vkos'k 10–8 C gS 600 

V dh foHko ij fcanq A ls 'kwU; foHko ij fcanq B rd 

xfr djrk gSA bldh xfrt ÅtkZ esa ifjorZu gS% 

 (1) –6 × 10–6 erg (2) –6 × 10–6 J 

 (3) 6 × 10–6 J (4) 6 × 10–6 erg 

17. fp= esa A vkSj B [VA –VB]] ds chp foHkokarj gS% 

 

 (1) 24 V (2) 14 V 

 (3) 32 V (4) 48 V 

 

18. fn[kk, x, ifjiFk esa] oksYVehVj dk çfrjks/k 10]000 

vkse gS vkSj ,ehVj dk çfrjks/k 20 vkse gSA ,ehVj 

jhfMax 0.10 ,Eih;j gS vkSj oksYVehVj jhfMax 12 oksYV 

gSA rks R fdlds cjkcj gS\ 

  

 (1) 122  (2) 140  

 (3) 116  (4) 100  

109. 20 cm vkSj 25 cm Qksdl yackbZ ds nks irys ysal 

laidZ esa j[ks x, gSaA la;kstu dh çHkkoh 'kfä gS% 

 (1) 45 dioptres  

 (2) 9 dioptres 

 (3) 1/9 dioptre  

 (4) 6 dioptres 
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20. A battery of emf E and internal resistance r is 

connected across the circuit shown in the figure. 

The value of R for which the heat generated in the 

circuit is maximum is: 

 

 (1) 5r (2) 2r/5 

 (3) 5r/2 (4) r/5 

21. When a 20 µC charge is placed inside a closed 

surface, the flux related to the surface is . If 80 

µC charge is added inside the surface, the change 

in flux through it is 

 (1) 5 (2) 4 

 (3)  (4) 8 

22. Figure represents the graph of photo current I 

versus applied voltage (V). The maximum kinetic 

energy of the emitted photoelectrons is: 

 

 (1) 2 eV (2) 4 eV 

 (3) 0 eV (4) 4 J 

 

 

20. fo|qr okgd cy E rFkk vkarfjd çfrjks/k r dh ,d 

cSVjh fp= esa n'kkZ, x, ifjiFk esa la;ksftr gSA R dk 

eku ftlds fy, ifjiFk esa mRiUu Å"ek vf/kdre gS] 

D;k gS\ 

  

 (1) 5r (2) 2r/5 

 (3) 5r/2 (4) r/5 

21. tc ,d 20 µC vkos'k dks ,d can lrg ds vanj j[kk 

tkrk gS] rks lrg ls lacaf/kr ¶yDl  D;k gksrk gSA 

;fn i`"B ds vanj 80 µC vkos'k feyk;k tkrk gS] rks 

blds ek/;e ls ¶yDl esa ifjorZu D;k gksxk\ 

 (1) 5 (2) 4 

 (3)  (4) 8 

22. fp= QksVks /kkjk I cuke oksYVst (V) ds xzkQ dk 

çfrfuf/kRo djrk gSA mRlftZr QksVksbysDVª‚uksa dh 

vf/kdre xfrt ÅtkZ gS% 

 

 (1) 2 eV (2) 4 eV 

 (3) 0 eV (4) 4 J 
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23. The momentum of a photon is 3.3 × 10–29 kgm/s. 

Its frequency will be: 

 (1) 3 × 103 Hz (2) 6 × 103 Hz 

 (3) 7.5 × 1012 Hz (4) 1.5 × 1013 Hz 

24. A semicircular wire carrying current i is placed in 

a uniform magnetic field B , as shown in the figure. 

Here both the semicircular wire and B  are in the 

plane of paper. The force acting on the wire is: 

 

 (1) irB (2) 
i rB

2


  

 (3) 
i rB

4


 (4) Zero 

25. A circuit has a resistance of 12 and an impedance 

of 15. The power factor of the circuit will be: 

 (1) 0.8 (2) 0.4 

 (3) 1.25 (4) 0.125 

26. Two coils A and B are placed near each other. On 

passing a current of 3.0 A in coil A, the flux linked 

with coil A is 1.2 × 10–4 weber and with coil B it is 

9.0 × 10–5 weber. The mutual inductance of the 

system is: 

 (1) 2 × 10–5 henry (2) 3 × 10–5 henry 

 (3) 4 × 10–5 henry (4) 6 × 10–5 henry 

27. Steam at 100°C is passed through 35 g of ice at 

0°C until the temperature of the mixture becomes 

80°C. The approximate mass of the mixture will 

be: 

 (1) 10 g (2) 50 g 

 (3) 45 g (4) 55 g 

 

23. ,d QksV‚u dk laosx 3.3 × 10–29 kgm/s gSA bldh 

vko`fÙk gksxh% 

 (1) 3 × 103 Hz (2) 6 × 103 Hz 

 (3) 7.5 × 1012 Hz (4) 1.5 × 1013 Hz 

24. fo|qr /kkjk i ys tkus okys ,d v/kZo`Ùkkdkj rkj dks 

,dleku pqacdh; {ks= B  esa j[kk x;k gS] tSlk fd fp= 

esa fn[kk;k x;k gSA ;gk¡ nksuksa v/kZo`Ùkkdkj rkj vkSj B  
dkxt ds ry esa gSaA rkj ij yxus okyk cy gS% 

  

 (1) irB (2) 
i rB

2


  

 (3) 
i rB

4


 (4) Zero  

25. ,d lfdZV esa 12  dk çfrjks/k vkSj 15  dk çfrck/kk 

gksrk gSA ifjiFk dk 'kfä xq.kkad gksxk% 

 (1) 0.8 (2) 0.4 

 (3) 1.25 (4) 0.125 

26. nks dqaMfy;k¡ A vkSj B ,d nwljs ds fudV j[kh xbZ 

gSaA dqaMyh A esa 3.0 A dh /kkjk çokfgr djus ij] 

dqaMyh A ls tqM+k ÝyDl 1.2 × 10–4
 gSA oscj vkSj 

dqaMyh B ds lkFk ;g 9.0 × 10–5
 gS oscjA ç.kkyh dk 

ikjLifjd izsj.k gS% 

 (1) 2 × 10–5 henry (2) 3 × 10–5 henry 

 (3) 4 × 10–5 henry (4) 6 × 10–5 henry 

27. 100°C ij Hkki dks 35 g cQZ ls 0°C ij rc rd 

çokfgr fd;k tkrk gS tc rd fd feJ.k dk rkieku 

80°C u gks tk,A feJ.k dk vuqekfur æO;eku gksxk% 

 (1) 10 g (2) 50 g 

 (3) 45 g (4) 55 g 
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28. Given below are two statements. One is labelled 

Assertion (A) and the other is labelled Reason (R). 

 Assertion (A) : Impurities always decrease the 

surface tension of a liquid. 

 Reason (R): The change in surface tension of a 

liquid depends on the degree of contamination of 

the impurity. 

 In light of the above statements, choose the correct 

answer from the options given below. 

 (1) Both (A) and (R) are true and (R) is the correct 

explanation of (A). 

 (2) Both (A) and (R) are true but (R) is not the 

correct explanation of (A). 

 (3) (A) is true but (R) is false. 

 (4) (A) is false but (R) is true. 

29. The equation of a standing wave is given by y = 4 

sinx cos4t (here, x and t are in metre and second 

respectively). The distance between a node and an 

adjacent antinode is: 

 (1) 0.5 m (2) 1 m 

 (3) 1.5 m (4) 2 m 

30. 2 A current is flowing in a circular loop of radius 1 

m. The magnitude of the magnetic field (in T) at 

the centre of the circular loop will be: 

 (1) 0

2


 (2) 2µ0 

 (3) µ0 (4) 0

2




  

31. The loop integral ( B·dl)  around a current 

carrying long straight wire has a value of 0.314 × 

10–6 Tm. Find the current in the wire. 

 (1) 0.25 A (2) 2.5 A 

 (3) 25 A (4) 0.025 A 

 

28. uhps nks dFku fn, x, gSaA ,d dks vfHkdFku (A) 

yscy fd;k x;k gS vkSj nwljs dks dkj.k (R) yscy 

fd;k x;k gSA 

 dFku (A) % v'kqf);k¡ ges'kk ,d rjy dh lrg ruko 

dks de djrh gSaA 

 dkj.k (R)% ,d rjy dh lrg ruko esa ifjorZu 

v'kq)rk ds lanw"k.k dh fMxzh ij fuHkZj djrk gSA 

 mijksä dFkuksa ds vkyksd esa] uhps fn, x, fodYiksa esa 

ls lgh mÙkj dk p;u dhft,A 

 (1) nksuksa (A) vkSj (R) lR; gSa vkSj (R) (A) dk lgh 

Li"Vhdj.k gSA 

 (2) nksuksa (A) vkSj (R) lR; gSa ysfdu (R) (A) dk 

lgh Li"Vhdj.k ugha gSA 

 (3) (A) lp gS ysfdu (R) xyr gSA 

 (4) (A) xyr gS ysfdu (R) lp gSA 

29. ,d fLFkj rjax dk lehdj.k y = 4 sinx cos4t }kjk 

fn;k x;k gS ¼;gk¡] x vkSj t Øe'k% ehVj vkSj lsdaM esa 

gSa½A ,d uksM vkSj ,d ,aVhuksM ds chp dh nwjh gS% 

 (1) 0.5 m (2) 1 m 

 (3) 1.5 m (4) 2 m 

 

30. 2 A 1m f=T;k okys ,d o`Ùkkdkj ywi esa ,d /kkjk 

çokfgr gks jgh gSA o`Ùkh; ywi ds dsaæ ij pqacdh; {ks= 

dk ifjek.k ¼ T esa½ gksxk% 

 (1) 0

2


 (2) 2µ0 

 (3) µ0 (4) 0

2




 

31. ywi baVhxzy ( B·dl) , dk eku ,d /kkjk ds pkjksa vksj 

yacs lh/ks rkj ds fy, 0.314 × 10–6 Tm gSA rkj esa 

/kkjk Kkr dhft,A 

 (1) 0.25 A (2) 2.5 A 

 (3) 25 A (4) 0.025 A 
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32. A given charge situated at a certain distance from 

an electric dipole, experiences a force F. If the 

distance between the dipole and charge is doubled, 

the force acting on the charge will be: 

 (1) 2F (2) F/2 

 (3) F/8 (4) 4F 

33. A bar magnet of length l has a magnetic moment 

M. It is bent into an L shape from the middle. The 

new magnetic moment will be: 

 (1) 
M

2
  (2) 

M

2
  

 (3) 2M  (4) 2M 

34. A bird is flying 3 m above the surface of water. If 

the bird dives vertically downward with a speed of 

6 m/s, its apparent velocity as seen by a stationary 

fish underwater is water

4

3

 
 = 

 
  

 (1) 8 m/s (2) 6 m/s 

 (3) 12 m/s (4) 4 m/s 

35. In the arrangement shown in the given figure, the 

current from A to B is increasing in magnitude. 

The induced current in the loop will: 

 

 (1) have a clockwise direction 

 (2) have an anticlockwise direction 

 (3) be zero 

 (4) oscillate between clockwise and anticlockwise 

36. A temperature difference of 5° on the Celsius scale 

corresponds to _______ temperature difference on 

the Fahrenheit scale. 

 (1) 9° (2) 41° 

 (3) 2.8° (4) 15° 

32. fo|qr f}/kzqo ls ,d fuf'pr nwjh ij fLFkr fn;k x;k 

vkos'k] cy F dk vuqHko djrk gSA ;fn f}/kzqo vkSj 

vkos'k ds chp dh nwjh nksxquh dj nh tkrh gS] rks 

vkos'k ij dk;Z djus okyk cy D;k gksxk\ 

 (1) 2F (2) F/2 

 (3) F/8 (4) 4F 

33. l yackbZ ds ,d NM+ pqacd dk pqacdh; vk?kw.kZ M gksrk 

gSA ;g chp ls L vkdkj esa eqM+k gqvk gSA u;k pqacdh; 

vk?kw.kZ gksxk% 

 (1) 
M

2
  (2) 

M

2
  

 (3) 2M  (4) 2M 

34. ,d i{kh ikuh dh lrg ls 3 ehVj Åij mM+ jgk gSA 

;fn i{kh 6 m/s dh xfr ls Å/kZ~ok/kj :i ls uhps dh 

vksj xksrk yxkrk gS] rks ikuh ds Hkhrj ,d fLFkj eNyh 

}kjk ns[kk x;k bldk Li"V osx D;k gS\ water

4

3

 
 = 

 
   

 (1) 8 m/s (2) 6 m/s 

 (3) 12 m/s (4) 4 m/s 

35. nh xbZ vk—fr esa fn[kkbZ xbZ O;oLFkk esa] A ls B rd 

/kkjk ifjek.k esa c<+ jgh gSA ywi esa çsfjr /kkjk gksxh% 

 

 (1) nf{k.kkorZ fn'kk gks 

 (2) okekorZ fn'kk gks 

 (3) 'kwU; gksuk 

 ¼4½ nf{k.kkorZ vkSj okekorZ ds chp nksyu djuk 

36. lsfYl;l iSekus ij 5° dk rkieku varj QkjsugkbV 

iSekus ij -------------------- rkieku varj ls esy [kkrk gSA 

 (1) 9° (2) 41° 

 (3) 2.8° (4) 15° 
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37. If waves originate from a point source, then the 

amplitude (A) at a distance (r) from the source is 

related as: 

 (1) A r   (2) 
2A r   

 (3) 
1

A
r

  (4) 
2

1
A

r
   

38. Given below are two statements. 

 Statement I : The radius (R) of a nucleus is related 

to the mass number (A) of the nucleus as
1/3R A  

 Statement II: The density of the nucleus is 

independent of mass number. 

 In light of the above statements, choose the correct 

answer from the options given below. 

 (1) Both Statement I and Statement II are correct. 

 (2) Both Statement I and Statement II are 

incorrect. 

 (3) Statement I is correct, but Statement II is 

incorrect. 

 (4) Statement I is incorrect, but Statement II is 

correct. 

39. A hydrogen atom in an excited state returns to the 

ground state by emitting a photon of wavelength 

. The recoil momentum of the hydrogen atom is 

 (1) 
h


  (2) 

2h


 

 (3) 
h

2
  (4) Zero 

40. The current flowing through the Zener diode in the 

given figure is: 

 

 (1) 20 mA (2) 25 mA 

 (3) 15 mA (4) 5 mA 

37. ;fn rjaxsa ,d fcanq lzksr ls mRiUu gksrh gSa] rks lzksr ls 

nwjh (r) ij vk;ke (A) fdl çdkj lacaf/kr gS\ 

 (1) A r   (2) 
2A r   

 (3) 
1

A
r

  (4) 
2

1
A

r
  

38. uhps nks dFku fn, x, gSaA 

 dFku I % ,d ukfHkd dh f=T;k (R) ukfHkd dh æO;eku 

la[;k (A) ls lacaf/kr gksrh gSA 
1/3R A    

 dFku II % ukfHkd dk ?kuRo æO;eku la[;k ls Lora= 

gSA 

 mijksä dFkuksa ds vkyksd esa] uhps fn, x, fodYiksa esa 

ls lgh mÙkj dk p;u dhft,A 

 (1) dFku I vkSj dFku II nksuksa lgh gSaA 

 (2) dFku I vkSj dFku II nksuksa xyr gSaA 

 (3) dFku I lgh gS] ysfdu dFku II xyr gSA 

 (4) dFku I xyr gS] ysfdu dFku II lgh gSA 

 

 

39. mÙksftr voLFkk esa ,d gkbMªkstu ijek.kq rjaxnS/kZ~; ds 

,d QksV‚u  dk mRltZu djds tehuh voLFkk esa 

ykSVrk gSA gkbMªkstu ijek.kq dk O;qRiUu laosx D;k gS\ 

 (1) 
h


  (2) 

2h


 

 (3) 
h

2
  (4) Zero  

40. nh xbZ vk—fr esa tsuj Mk;ksM ds ek/;e ls cgus okyh 

/kkjk gS% 

  

 (1) 20 mA (2) 25 mA 

 (3) 15 mA (4) 5 mA 
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41. What will be the velocity of a satellite revolving 

around the earth at a height h above the surface of 

the earth? (Radius of the earth = R, Gravitational 

field at earth's surface = g) 

 (1) 2 g
R

R h+
 (2) 

2

g
R

(R h)+
  

 (3) 
g

R
R h+

  (4) 
R h

R
g

+
  

42. An ideal gas undergoes a cyclic process ABCDA 

as shown in the given P.V diagram. The amount of 

the work done by the gas is: 

 

 (1) 
o o6P V   (2) 

o o2P V−   

 (3) 
o o2P V+  (4) 

o o4P V+   

43. An ideal gas is filled in a closed rigid and 

thermally insulated container. A coil of 100  

resistor a carrying current of 1 A for 5 minutes 

supplies heat to the gas. The change in internal 

energy of the gas is: 

 (1) 10 kJ  

 (2) 20 kJ 

 (3) 30 kJ  

 (4) zero 

 

 

 

 

41. i`Foh dh lrg ls h ÅapkbZ ij i`Foh ds pkjksa vksj ?kweus 

okys mixzg dk osx D;k gksxk\ ¼i`Foh dh f=T;k ¾ R] 

i`Foh dh lrg ij xq#Rokd"kZ.k {ks= ¾ g½ 

 (1) 2 g
R

R h+
 (2) 

2

g
R

(R h)+
  

 (3) 
g

R
R h+

  (4) 
R h

R
g

+
 

42. ,d vkn'kZ xSl pØh; çfØ;k ABCDA ls xqtjrh gS 

tSlk fd fn, x, P.V vkjs[k esa fn[kk;k x;k gSA xSl 

}kjk fd;s x;s dk;Z dh ek=k gS% 

  

 (1) 
o o6P V   (2) 

o o2P V−   

 (3) 
o o2P V+  (4) 

o o4P V+   

43. ,d vkn'kZ xSl ,d can dBksj vkSj Å’ek dqpkyd 

daVsuj esa Hkjh tkrh gSA 100  dk ,d çfrjks/kd 5 

feuV ds fy, 1 ,fEi;j dk okgd /kkjk xSl dks Å"ek 

çnku djrh gSA xSl dh vkarfjd ÅtkZ esa ifjorZu gS% 

  

 (1) 10 kJ  

 (2) 20 kJ 

 (3) 30 kJ  

 (4) zero 
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44. Match List-I with List-II 

 List.I 

 A. Pressure varies inversely with volume of an 

ideal gas. 

 B. Heat absorbed goes partly to increase internal 

energy and partly to do work. 

  

 C. Heat is neither absorbed nor released by a 

system 

 D. No work is done on or by a gas 

 List.II 

 I. Adiabatic process 

 II. Isochoric process 

 III. Isothermal process 

 IV. Isobaric process 

 Choose the correct answer from the options given 

below. 

  (A) (B) (C) (D) 

 (1) I IV II III 

 (2) III I IV II 

 (3) I III II IV 

 (4) III IV I II 

45. The volume of liquid flowing per second out of an 

orifice at the bottom of a tank does not depend 

upon: 

 (1) the height of the liquid above the orifice 

 (2) the density of liquid 

 (3) the value of acceleration due to gravity 

 (4) the area of the orifice 

44. lwph&I dks lwph&II ds lkFk lqesfyr dhft, 

 lwph&I 

 A. nkc vkn'kZ xSl ds vk;ru ds O;qRØekuqikrh gksrk 

gSA 

 B. vo'kksf"kr Å"ek vkaf'kd :i ls vkarfjd ÅtkZ dks 

c<+kus vkSj vkaf'kd :i ls dk;Z djus ds fy, tkrh 

gSA 

 C. Å"ek fdlh fudk; }kjk u rks vo'kksf"kr gksrh gS 

vkSj u gh NksM+h tkrh gS 

 D. xSl ij ;k xSl }kjk dksbZ dk;Z ugha fd;k tkrk gS 

 lwph&II 

 I. #)ks"e çfØ;k 

 II. levk;rfud çfØ;k 

 III. lerkih; çfØ;k 

 IV. lenkch; çfØ;k 

 uhps fn, x, fodYiksa esa ls lgh mÙkj dk p;u dhft,A 

  (A) (B) (C) (D) 

 (1) I IV II III 

 (2) III I IV II 

 (3) I III II IV 

 (4) III IV I II 

45. ,d VSad ds ry ij ,d fNæ ls çfr lsdaM cgus okys 

rjy dk vk;ru fdl ij fuHkZj ugha djrh gS\ 

 (1) fNæ ds Åij rjy dh ÅapkbZ 

 (2) rjy dk ?kuRo 

 (3) xq#Rokd"kZ.k ds dkj.k Roj.k dk eku 

 (4) fNæ dk {ks=Qy 
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PART – II : CHEMISTRY 
46.  The maximum number of molecules is present in: 

 (1) 4 grams of hydrogen 

 (2) 112 litres of 
3NH at STP 

 (3) 12 gram atoms of oxygen 

 (4) 64 grams of methane 

47.  Match List-I with List-II 

  List-I    List-II 

 (Name of reaction)    (Reagent used) 

 A.  Hell-Volhard       I.   2NaOH I+  

  Zelinsky Reaction   

 B. Iodoform reaction II.     (a) 
2 2 2CrO Cl ,CS   

             (b) 
2H O  

 C.  Etard reaction         III. (a) 2Br / red phosphorus 

      (b) 
2H O  

 D.  GattermanKoch    IV.  CO,HCl , anhyd. 
3AlCl  

  reaction 

 Choose the correct answer from the options given 

below: 

   

   A    B    C    D 

 (1)  III   II   I   IV   

 (2)  III   I   IV   II  

 (3)  I   II   III   IV   

 (4)  III   I   II   IV 

48.  For the reaction (g) (s) (g) (s)A B C 2D ,2+ + moles 

of A,3 moles of B and 1 mole C are present in a 10 L 

vessel. If cK for the reaction is 3.6 , the reaction will 

proceed in: 

 (1) The forward direction 

 (2) The backward direction 

 (3) The reaction is at equilibrium 

 (4) Cannot be predicted 

46.  v.kqvksa dh vf/kdre la[;k esa ekStwn gS% 

 (1) 4 xzke gkbMªkstu esa 

 (2) STP  ij 112 yhVj 
3NH  esa 

 (3) v‚Dlhtu ds 12 xzke ijek.kq esa 

 (4) 64 xzke ehFksu esa 

47.  lwph&I dks lwph&II ds lkFk lqesfyr dhft, 

   lwph&I  lwph&II 

 ¼vfHkfØ;k dk uke½   ¼vfHkdeZd½ 

 A.  Hell-Volhard       I.   
2NaOH I+  

  Zelinsky vfHkfØ;k   

 B. Iodoform vfHkfØ;k II.  (a) 
2 2 2CrO Cl ,CS   

         (b) 
2H O  

 C.  Etard vfHkfØ;k         III. (a) 
2Br / red  

   phosphorus 

     (b) 2H O  

 D.  GattermanKoch         IV. CO,HCl ,anhyd. 

 vfHkfØ;k   
3AlCl   

 uhps fn, x, fodYiksa esa ls lgh mÙkj dk p;u dhft,% 

  A    B    C    D 

 (1)  III   II   I   IV   

 (2)  III   I   IV   II  

 (3)  I   II   III   IV   

 (4)  III   I   II   IV 

48.  (g) (s) (g) (s)A B C 2D+ +  vfHkfØ;k ds fy, 2 eksy 

A, 3 eksy B, 1 eksy C, 10 L ik= eas mifLFkr gS] ;fn 

vfHkfØ;k dk KC  3.6 gS] rks vfHkfØ;k fdl fn”kk esa 

c<+sxh% 

 (1) vxz fn'kk esa 

 (2) i'p fn'kk esa 

 (3) vfHkfØ;k lkE;koLFkk ij gksrh gS 

 (4) Hkfo";ok.kh ugha dh tk ldrh 
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49.  Statement I : Some organic liquids can be purified 

by steam distillation. 

 Statement II: The principle involved in steam 

distillation is that liquids immiscible in water, 

possessing high boiling points, and are steam volatile. 

 (1) Both Statement I and Statement II are true. 

 (2) Statement I is false but Statement II is true. 

 (3) Statement I is true but Statement II is false. 

 (4) Both Statement I and Statement II are false. 

50.  In which one of the following equilibria,  

p cK K  ? 

 (1) 
2 2 3NO (g) SO (g) NO(g) SO (g)+ +  

 (2) 
2 22HI(g) H (g) I (g)+  

 (3) 2 22NO(g) N (g) O (g)+  

 (4) 22C(s) O (g) 2CO(g)+  

51. Intramolecular hydrogen bond is exhibited by 

 

 (1)   

 (2)  

 (3)  

 (4)  

 

 

 

 

 

49.  dFku I % dqN dkcZfud nzo inkFkZ Hkkai vklou }kjk 

'kq) fd, tk ldrs gSaA 

 dFku II% Hkki vklou dk fl)kar ;g gS fd nzo tks 

ty esa vfeJ.kh; gS] mPp DoFkukad j[krs gSa] vkSj 

ok"i'khy gksrs gSaA 

 (1) dFku I vkSj dFku II nksuksa lR; gSaA 

 (2) dFku I vlR; gS ysfdu dFku II lR; gSA 

 (3) dFku I lR; gS ysfdu dFku II vlR; gSA 

 (4) dFku I vkSj dFku II nksuksa vlR; gSaA 

50.  fuEufyf[kr esa ls fdl lkE; esa p cK K gSa\ 

 (1) 2 2 3NO (g) SO (g) NO(g) SO (g)+ +  

 (2) 
2 22HI(g) H (g) I (g)+  

 (3) 2 22NO(g) N (g) O (g)+  

 (4) 22C(s) O (g) 2CO(g)+  

51. var%vkf.od gkbMªkstu ca/k fdlds }kjk çnf'kZr fd;k 

tkrk gS\ 

 (1)   

 (2)  

 (3)  

 (4)  
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52. For which of the following process, is S negative? 

  

 (1) 2( g) (g)H 2H→  

 (2) 2( g) 2( g)N (1 atm) N (8 atm)→  

 (3) 3(g) 2( g) 2( g)2SO 2SO O→ +  

 (4) 2( s) 2( g)I I→  

 (1) A, B, and C only  

 (2) Only B 

 (3) A and C only  

 (4) C and D only 

53. Among the hydrides NH3, PH3 and BiH3, the hydride 

with highest boiling point is X and the hydride with 

the lowest boiling point is Y. What are X and Y, 

respectively? 

 (1) 3 3PH ,NH  (2) 3 3NH ,NH  

 (3) 3 3BiH ,PH  (4) 3 3NH ,BiH  

54.  Consider the following structures 

 I. 2CH C H
+

=  

 II. 3 2CH CH
+

−  

 III. 2 2CH CH CH
+

= −  

 IV. 6 5 6 5C H CH C H
+

− −  

 The correct sequence of these carbocation’s in 

decreasing order of their stability is: 

 (1) IV, III, II, and I (2) I, II, IV, and III 

 (3) IV, II, III, and I (4) I, III, IV, and II 

55.  The correct IUPAC name of ( )52 4
C H C is 

 (1) Tetraethyl methane 

 (2) 2-Ethylpentane 

 (3) 3,3-Diethylpentane 

 (4) 2,2-Diethyl pentane 

52. fuEufyf[kr esa ls fdl çfØ;k ds fy, _.kkRed  S  

gS\ 

 (1) 2( g) (g)H 2H→  

 (2) 2( g) 2( g)N (1 atm) N (8 atm)→  

 (3) 3(g) 2( g) 2( g)2SO 2SO O→ +  

 (4) 2( s) 2( g)I I→  

 (1) dsoy A, B, vkSj C 

 (2) dsoy B 

 (3) dsoy A  vkSj C 

 (4) dsoy C vkSj D 

53. gkbMªkbM NH3, PH3 vkSj BiH3 esa] mPpre DoFkukad 

okyk gkbMªkbM X gS vkSj lcls de DoFkukad okyk 

gkbMªkbM Y gS] rks X vkSj Y D;k gSa\ 

 (1) 3 3PH ,NH  (2) 3 3NH ,NH  

 (3) 3 3BiH ,PH  (4) 3 3NH ,BiH  

54.  fuEufyf[kr lajpukvksa ij fopkj dhft,& 

 I. 2CH CH
+

=  

 II. 3 2CH CH
+

−  

 III. 2 2CH CH CH
+

= −  

 IV. 6 5 6 5C H CH C H
+

− −  

 bu dkcksZdsVk;u dk mudh fLFkjrk ds ?kVrs Øe esa 

lgh Øe gS% 

 (1) IV, III, II, vkSj  I (2) I, II, IV, vkSj III 

 (3) IV, II, III, vkSj I (4) I, III, IV, vkSj II 

55.  ( )52 4
C H C  dk lgh IUPAC uke gS 

 (1) Tetraethyl methane 

 (2) 2-Ethylpentane 

 (3) 3,3-Diethylpentane 

 (4) 2,2-Diethyl pentane 
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56.  Which of the following halides shows the highest 

reactivity towards 
NS 1 reaction? 

 (1) 
6 3 2C H CH Cl  

 (2) 
3 2CH CH Cl−  

 (3) 
3 2 2 2CH CH CH CH I− − −  

 (4) 
6 5C H Cl  

57.  Consider the following reaction sequence. Identify A 

and B. 

  

 (1) 
3 3CH CH O,CH CH O= =  

 (2) ( )3 22
CH C O,CH O= =  

 (3) ( )3 32
CH C O,CH CH O= =  

 (4) 3 2CH CH O,CH O= =  

58.  Glucose does not react with: 

 a.  Schiff's reagent 

 b.  3NaHSO  

 c.  HCN 

 d.  2 2Br / H O  

 (1) a and b (2) a and c 

 (3) b and c (4) c and d 

 

 

 

 

 

 

 

56.  fuEufyf[kr esa ls dkSu lk gSykbM~l 
NS 1 vfHkfØ;k 

ds çfr mPpre vfHkfØ;k'khyrk n'kkZrk gS]\ 

 (1) 
6 3 2C H CH Cl  

 (2) 
3 2CH CH Cl−  

 (3) 
3 2 2 2CH CH CH CH I− − −  

 (4) 
6 5C H Cl  

57.  fuEufyf[kr vfHkfØ;k vuqØe ij fopkj dhft;s vkSj 

A vkSj B dks igpkfu,A 

  

 (1) 3 3CH CH O,CH CH O= =  

 (2) ( )3 22
CH C O,CH O= =  

 (3) ( )3 32
CH C O,CH CH O= =  

 (4) 3 2CH CH O,CH O= =  

58.  Xywdkst fuEu ds lkFk vfHkfØ;k ugha djrk gS%& 

 a.  Schiff's vfHkdeZd 

 b.  3NaHSO  

 c.  HCN 

 d.  2 2Br / H O  

 (1) a vkSj b (2) a vkSj c 

 (3) b vkSj c (4) c vkSj d 
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59.  Match List-I with List-II. 

  List-I   

 A.   2 2Co(en) Cl Br    

 B.  ( )3 2 4 3
K Cr C O     

 C.  ( )( )3 2 2Pt NH H O Cl     

 D.  ( )  3 66
Co NH Cr(CN)     

 List-II 

 I.  Optical isomerism 

 II.  Coordination isomerism 

 III. Ionization isomerism 

 IV.  Geometrical isomerism  

 V.  Solvate isomerism 

 Choose the correct answer from the options given 

below. 

  A              B         C        D 

 (1) I, II, III      I      IV, V      II  

 (2) I, III, IV    I        IV         II 

 (3) IV            II         V         III  

 (4) I                II       III          IV 

60.  The ground state energy of a hydrogen atom is -13.6 

eV. The energy of the second excited state of He+
ion 

in eV is: 

 (1) -54.4 (2) -3.4 

 (3) -6.04 (4) -27.2 

61.  The number of   and   bonds in acrylonitrile 

( )2CH CH C N= −  is 

 (1) 6 and 3   

 (2) 7 and 2  

 (3) 7  and 3   

 (4) 2 and 6  

 

59.  lwph&I dks lwph&II ds lkFk lqesfyr dhft,A 

   lwph&I   

 A.   2 2Co(en) Cl Br    

 B.  ( )3 2 4 3
K Cr C O     

 C.  ( )( )3 2 2Pt NH H O Cl     

 D.  ( )  3 66
Co NH Cr(CN)     

   lwph&II 

 I.  izdkf”kd leko;ork 

 II.  leUo; leko;ork 

 III.  vk;uhdj.k leko;ork 

 IV.  T;kferh; leko;ork  

 V.  foyk;du leko;ork 

 uhps fn, x, fodYiksa esa ls lgh mÙkj dk p;u 

dhft,A 

  A              B         C        D 

 (1) I, II, III      I      IV, V      II  

 (2) I, III, IV    I        IV         II 

 (3) IV            II         V         III  

 (4) I                II       III          IV 

60.  gkbMªkstu ijek.kq dh vk| voLFkk ÅtkZ -13.6 eV gS] 

rks He+
 vk;u dh f}rh; mÙksftr voLFkk esa ÅtkZ 

eV esa gksxh& 

 (1) -54.4 (2) -3.4 

 (3) -6.04 (4) -27.2 

61.  ( )2CH CH C N= −  ,fØyksukbVªkby esa   vkSj   

ca/k dh la[;k gS& 

 (1) 6  vkSj 3   

 (2) 7  vkSj 2  

 (3) 7  vkSj 3   

 (4) 2  vkSj 6  
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62.  Arrange the following in the correct order of their 

boiling points: 

 I.  Neopentane II.  Pentane 

 III.  Isopentane IV.  Isobutane 

 (1) IV < I < III < II (2) I < III < II < IV 

 (3) IV < I < II < III (4) II < IV < III < I 

63.  Statement I : Oxygen, being the first member of 

group 16 , exhibits only -2 oxidation state. 

  

 Statement II: Down the group 16, the stability of +4 

oxidation state decreases and the +6 oxidation state 

increases. 

 (1) Statement I is correct but Statement II is incorrect. 

 (2) Both Statement I and Statement II are correct. 

 (3) Both Statement I and Statement II are incorrect. 

 (4) Statement I is incorrect but Statement II is correct. 

64.  The slope of the Arrhenius plot (Ink vs 1/T) for a first 

order reaction is 
35 10  K−  . The value of Ea of the 

reaction is (Given 1 1R 8.314)K mol ) :− −=  

 (1) 183KJmol−−  (2) 141.5KJmol−  

 (3) 
183KJmol−
 (4) 

1166KJmol−  

65.  The ease of liquefaction of noble gases decreases in 

the order: 

 (1) He Ne Ar Kr Xe     

 (2) Xe Kr Ar Ne He     

 (3) Kr Xe He Ar Ne     

 (4) Ar Kr Xe He Ne     

66.  3 2

0

M /M
E + + , is the highest when ' M ' is: 

 (1) Fe  

 (2) Cr 

 (3) Mn  

 (4) Ti 

 

 

62.  fuEufyf[kr dks muds DoFkukad ds lgh Øe esa 

O;ofLFkr dhft,% 

 I.  Neopentane II.  Pentane 

 III.  Isopentane IV.  Isobutane 

 (1) IV < I < III < II (2) I < III < II < IV 

 (3) IV < I < II < III (4) II < IV < III < I 

63.   dFku I % v‚Dlhtu] lewg 16 dk igyk lnL; gksus 

ds dkj.k dsoy &2 v‚Dlhdj.k voLFkk çnf'kZr djrk 

gSA 

 dFku II% lewg 16 esa uhps tkus ij +4 v‚Dlhdj.k 

voLFkk dh fLFkjrk de gks tkrh gS vkSj +6 

v‚Dlhdj.k voLFkk dk LFkkf;Ro c<+ tkrh gSA 

 (1) dFku I lgh gS ysfdu dFku II xyr gSA 

 (2) dFku I vkSj dFku II nksuksa lgh gSaA 

 (3) dFku I vkSj dFku II nksuksa xyr gSaA 

 (4) dFku I xyr gS ysfdu dFku II lgh gSA 

64.  ,d izFke dksfV vfHkfØ;k ds fy;s vkjsfu;l xzkQ esa 

<+ky 
35 10  K−   gS] rks vfHkfØ;k dh  Ea dk eku 

gksxk&(fn;k gS 1 1R 8.314)K mol )− −=  

 (1) 
183KJmol−−  (2) 

141.5KJmol−  

 (3) 
183KJmol−
 (4) 

1166KJmol−  

65.  ukscy xSlksa ds æohdj.k dk ?kVrk gqvk lgh Øe gS % 

 (1) He Ne Ar Kr Xe     

 (2) Xe Kr Ar Ne He     

 (3) Kr Xe He Ar Ne     

 (4) Ar Kr Xe He Ne     

66.  3 2

0

M /M
E + + ] mPpre gS tc ' M ' gS% 

 (1) Fe  

 (2) Cr 

 (3) Mn  

 (4) Ti 
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67.  Match List-I with List-II. 

 List-I (Complex) 

 A.   
2

4MnBr
−
 B.   

3

6FeF
−

 

 C.  ( )
2

2 4 3
Co C O

−

    D.   4Ni(CO)  

 List-II (Hybridization & Magnetic characters) 

 I. 2 3d sp and diamagnetic 

 II.  3 2sp  d and paramagnetic 

 III.  3sp and diamagnetic 

 IV.  sp3 and paramagnetic 

 Choose the correct answer from the options given 

below: 

  A     B    C    D 

 (1)  III    II     I     IV 

 (2)  III    I      II    IV 

 (3)  IV    I    II     III 

 (4)  IV   II    I      III 

68.  Effective collisions are those in which molecules 

must: 

 (1) have energy equal to or greater than the threshold 

energy 

 (2) have proper orientation 

 (3) acquire the energy of activation 

 (4) all of the above 

69.  Arrange F,S,O,N in the decreasing order of 

electronegativity. 

 (1) O F N S    (2) F N S O    

 (3) S F N O    (4) F O N S    

70.  Henry's constant in water for 4 gases A, B, C, and D 

in K. bar at 298 K are 144.97,69.16 , 88.8 and 0.413 

respectively. The gas that is most soluble in water is: 

 

 (1) A (2) B 

 (3) C (4) D 

 

67.  lwph&I dks lwph&II ds lkFk lqesfyr dhft,A 

 lwph&I ¼ladqy½ 

 A.   
2

4MnBr
−
 B.   

3

6FeF
−

 

 C.  ( )
2

2 4 3
Co C O

−

    D.   4Ni(CO)  

 lwph&II ¼ladj.k vkSj pqacdh; y{k.k½ 

 I. 2 3d sp vkSj izfrpqEcdh; 

 II.  3 2sp  d vkSj vuqpqEcdh; 

 III.  3sp vkSj izfrpqEcdh; 

 IV.  sp3 vkSj vuqpqEcdh; 

 uhps fn, x, fodYiksa esa ls lgh mÙkj dk p;u dhft,% 

    A     B    C    D 

 (1)  III    II     I     IV 

 (2)  III    I      II    IV 

 (3)  IV    I    II     III 

 (4)  IV   II    I      III 

68.  çHkkoh VDdj os gSa ftuesa v.kqvksa dks pkfg,% 

  

 (1) ngyht ÅtkZ ds cjkcj ;k mlls vf/kd ÅtkZ  

  

 (2) mfpr vfHkfoU;kl  

 (3) lfØ;.k ÅtkZ çkIr djus ds fy;s 

 (4) mijksä lHkh 

69.  F,S,O,N dks fo|qr_.krk ds ?kVrs Øe esa O;ofLFkr 

dhft,& 

 (1) O F N S    (2) F N S O    

 (3) S F N O    (4) F O N S    

70.  298 K ij ckj esa 4 xSlksa A, B, C, vkSj D ds fy, 

ty esa gsujh fLFkjkad Øe”k% 144.97,69.16 ] 88.8 vkSj 

0.413 gS] rks ty esa lcls vf/kd ?kqyu'khy xSl dkSu 

lh gS\ 

 (1) A (2) B 

 (3) C (4) D 
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71.  Match List-I with List-II. 

  List-I (Reagent) 

 A.  1 mole of 2

4MnO toMn− +  

 B.  1 mole of 2

2 7Cr O  to 
3Cr +   

 C.  1 mole of 4Sn + to 2Sn +  

 D.  1 mole of Al+++  to Al  

  List-II (Quantity of Charge) 

 I.  193000 C 

 II.  289500C  

 III.  482500 C 

 IV.  579000 C 

 Choose the correct answer from the options given 

below. 

  A     B    C    D 

 (1)  III    IV    I     II 

 (2)  II    IV      I    III 

 (3)  III    I    IV     II 

 (4)  III   IV    II      I 

72. Which of the following organic compounds responds 

positively to both iodoform test and Fehling's test? 

  

 (1) Ethanol  

 (2) Methanal 

 (3) Ethanal  

 (4) Propanone 

 

73.  A chloro compound of vanadium has only spin 

magnetic moment of 1.73 BM. This vanadium 

chloride has the formula: (at. no. of V=23) 

 (1) 2VCl  (2) 4VCl  

 (3) 3VCl  (4) 5VCl  

 

 

71.  lwph&I dks lwph&II ds lkFk lqesfyr dhft,A 

   lwph&I (vfHkdeZd) 

 A.  1 eksy 
4MnO−

ls 
2Mn +  

 B.  1 eksy 2

2 7Cr O  ls
3Cr +   

 C.  1 eksy 4Sn +
ls 

2Sn +  

 D.  1 eksy Al+++  ls  Al  

   lwph&II(vkos”k dh ek=k) 

 I.  193000 C 

 II.  289500C  

 III.  482500 C 

 IV.  579000 C 

 uhps fn, x, fodYiksa esa ls lgh mÙkj dk p;u 

dhft,A 

  A     B    C    D 

 (1)  III    IV    I     II 

 (2)  II    IV      I    III 

 (3)  III    I    IV     II 

 (4)  III   IV    II      I 

72.  fuEufyf[kr esa ls dkSu lk dkcZfud ;kSfxd 

vk;ksMksQ‚eZ ijh{k.k vkSj Qsgfyax ijh{k.k nksuksa ds fy, 

/kukRed vfHkfØ;k djrk gS\ 

 (1) bFksu‚y  

 (2) eSFkuy 

 (3) ,SFkuy  

 (4) çksisuksu 

73.  oSusfM;e ds ,d Dyksjks ;kSfxd esa dsoy 1.73 BM dk 

fLiu pqacdh; y{k.k gksrk gSA bl oSusfM;e DyksjkbM 

dk lw= gS% ¼V=23dh la[;k½ 

 (1) 2VCl  (2) 4VCl  

 (3) 3VCl  (4) 5VCl  
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74.  Match List-I with List-II. 

 List-I  List-II 

 A. 
5PCl  I.  Square planar 

 B. 
4SF  II.  Trigonal planar 

 C. 
4XeF  III.  See saw 

 D. 
3BF  IV.  Trigonal bipyramidal 

 Choose the correct answer from the options given 

below. 

 

  A      B      C   D 

 (1)  III    I       IV   II 

 (2)  IV    III    II     I 

 (3)  IV    III    I     II 

 (4)  II     III    IV    I 

75. 50 mL . of 0.5 M oxalic acid is needed to neutralize 

25 mL of sodium hydroxide solution. The amount of 

NaOH in 50 mL . of the given sodium hydroxide 

solution is 

 (1) 4 g (2) 8 g 

 (3) 2 g (4) 1 g 

76.  3 2 2 2CH CH CH OH SOCl− − − + →  (A) 

 2RedP Br

3 2CH CH OH ( B)
+

− − ⎯⎯⎯⎯→  

 The products (A) and (B) in the above reactions 

respectively are 

                 A      B 

 (1) 3 2 2CH CH CH Cl− − − ,    3 2 2CH CH CH Br− − −  

 (2) 3 2 2CH CH CH Cl− − − ,   3 2CH CH Br− −  

 (3) 3 2CH CH Cl− −  ,        3 2CH CH Br− −   

 (4) 3 2CH CH Cl− −  ,        3 2 2CH CH CH Br− − −  

 

 

 

74.  lwph&I dks lwph&II ds lkFk lqesfyr dhft,A 

 lwph&I  lwph&II 

 A. 
5PCl  I. oxkZdkj leryh; 

 B. 
4SF  II. f=dks.kh; leryh; 

 C. 
4XeF  III. <sdqyh 

 D. 
3BF  IV. f=dks.kh; f}fijkehfM; 

 uhps fn, x, fodYiksa esa ls lgh mÙkj dk p;u 

dhft,A 

  A      B      C   D 

 (1)  III    I       IV   II 

 (2)  IV    III    II     I 

 (3)  IV    III    I     II 

 (4)  II     III    IV    I 

 

75. 50 mL 0.5 M  vkDlsfyd vEy dks iw.kZ mnklhu djus 

ds fy;s 25mL NaOH dh vko';drk gksrh gS] rks 50 

mL esa NaOH dh ek=k D;k gS\ 

 (1) 4 g (2) 8 g 

 (3) 2 g (4) 1 g 

76.  3 2 2 2CH CH CH OH SOCl− − − + →  (A) 

 2RedP Br

3 2CH CH OH ( B)
+

− − ⎯⎯⎯⎯→  

 mijksä vfHkfØ;kvksa esa mRikn (A) vkSj (B)  Øe'k% gSa 

  

                A      B 

 (1)
3 2 2CH CH CH Cl− − − ,  

3 2 2CH CH CH Br− − −  

 (2) 
3 2 2CH CH CH Cl− − − ,   3 2CH CH Br− −  

 (3) 3 2CH CH Cl− −  ,      3 2CH CH Br− −   

 (4) 3 2CH CH Cl− −  ,   
3 2 2CH CH CH Br− − −  
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77.  Gadolinium belongs to 4 f series. Its atomic number 

is 64. Which of the following is the correct electronic 

configuration of gadolinium? 

 (1) 1[Xe] / 4f 5 s  (2) 7 1 2[Xe]4f 5 d 6 s  

 (3) 6 2 2[Xe]A4f 5 d 6 s  (4)   8 2Xe 4f 6d  

78.  2 moles of 
5PCl is heated in a one-litre vessel. If 

5PCl dissociates to the extent of 80%,  the 

equilibrium constant for the dissociation of 
5PCl  in 

1M·L− is: 

 (1) 0.32 (2) 0.64 

 (3) 0.16 (4) 6.4 

79.  The SRP for different halogens is in the order of: 

 (1) F Cl Br I    (2) F Cl Br 1    

 (3) F Cl Br I    (4) F Cl Br I= = =  

80. But-2-ene on reaction with alkaline 
4KMnO  at an 

elevated temperature followed by acidification will 

give: 

 (1) one molecule of 3CH CHO  and one molecule of 

3CH COOH  

 (2) one molecule of But-2,3-diol 

 (3) two molecules of 3CH COOH  

 (4) two molecules of 3CH CHO  

81.  Statement I : Aniline does not undergo Friedel 

Craft's alkylation reaction. 

 Statement II: Aniline cannot be prepared by Gabriel 

phthalimide synthesis. 

 (1) Both Statement I and Statement II are true 

 (2) Both Statement I and Statement II are false 

 (3) Statement I is true but Statement II is false 

 (4) Statement I is false but Statement II is true 

82.  Given below are the atomic numbers of some group 

14 elements. The atomic number of the element with 

the lowest melting point is: 

 (1) 14 (2) 6 

 (3) 82 (4) 50 

77.  xSMksyhfu;e 4 f J`a[kyk ls lacaf/kr gSA bldh ijek.kq 

la[;k 64 gSA fuEufyf[kr esa ls dkSu lk xSMksyhfu;e 

dk lgh bysDVª‚fud foU;kl gS\ 

 (1) 1[Xe] / 4f 5 s  (2) 7 1 2[Xe]4f 5 d 6 s  

 (3) 6 2 2[Xe]A4f 5 d 6 s s (4)   8 2Xe 4f 6d  

78.  2  eksy 
5PCl  ,d yhVj ds crZu esa xje fd;k tkrk 

gSA ;fn  
5PCl  80%,  dh lhek rd fo;ksftr gksrk 

gS] rks 
5PCl d fo;kstu dk lkE; fLFkjkad 

1M·L−  esa 

gS% 

 (1) 0.32 (2) 0.64 

 (3) 0.16 (4) 6.4 

79. fofHkUu gSykstu ds fy, SRP dk Øe gS% 

 (1) F Cl Br I    (2) F Cl Br 1    

 (3) F Cl Br I    (4) F Cl Br I= = =  

80.  But-2-ene, {kkjh; 
4KMnO  ds lkFk vfHkfØ;k ij   

vEyhdj.k ds ckn mPp rki ij nsxk% 

 (1) 3CH CHO  dk ,d v.kq vkSj 3CH COOHdk ,d 

v.kq   

 (2) But-2,3-diol dk ,d v.kq 

 (3) 3CH COOH  ds nks v.kq   

 (4) 3CH CHO  ds nks v.kq   

81.  dFku I % ,fufyu ÝsMsy Øk¶V dh {kkjhdj.k vfHkfØ;k 

ls ugha xqtjrh gSA 

 dFku II% xsfczy QkFkkSfyekbM la'ys"k.k }kjk ,fufyu 

rS;kj ugha fd;k tk ldrk gSA 

 (1) dFku I vkSj dFku II nksuksa lR; gSa 

 (2) dFku I vkSj dFku II nksuksa vlR; gSa 

 (3) dFku I lR; gS ysfdu dFku II vlR; gS 

 (4) dFku I vlR; gS ysfdu dFku II lR; gS 

82.  uhps oxZ 14, rRoksa dh ijekk.kq la[;k nh xbZ gSA lcls 

de xyukad okys rRo dh ijek.kq la[;k D;k gS\ 

 (1) 14 (2) 6 

 (3) 82 (4) 50 
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83. Match List-I with List-II. 

 List-I (Cations) 

 A. 
2 2Pb ,Cu+ +

 B. 
3 3Al ,Fe+ +  

 C. 
2 2Co ,Ni+ +

 D. 
2 2Ba ,Ca+ +  

 List-II (Group reagents) 

 I.  2H  S  gas in presence of dilute HCl 

 II.  ( )4 32
NH CO in presence of 4NH OH  

 III.  
4NH OH  in presence of 

4NH Cl  

 IV.  
2H  S  in presence of 

4NH OH  

 Choose the correct answer from the options given 

below. 

  A       B       C     D 

 (1) III     I        IV      II  

 (2) I       III      IV     II  

 (3) I       III      II       IV 

 (4) IV    III      III     I 

84.  If the first ionisation enthalpy of Li,Be,  and C are 

1520,899,1086 kJ mol−
respectively, the first 

ionisation enthalpy (in 
1kJmol−
) of B will be: 

 (1) 487 (2) 950 

 (3) 801 (4) 1402 

85.  Match List-I with List-II. 

 List-I 

 A.  Principal quantum number 

 B.  Azimuthal quantum number 

 C.  Magnetic quantum number 

 D.  Spin quantum number 

 List-II 

 I.  Magnetic properties of the substance 

 II.  Number of orbitals present in any subshell 

 III.  Relative energies of various subshells in an orbit 

 IV.  Energy of an electron in a single electron system 

 V.  Angular momentum of electron present in a shell 

83. lwph&I dks lwph&II ds lkFk lqesfyr dhft,A 

 lwph&I ¼/kuk;u½ 

 A. 
2 2Pb ,Cu+ +

 B. 
3 3Al ,Fe+ +  

 C. 
2 2Co ,Ni+ +

 D. 
2 2Ba ,Ca+ +  

 lwph&II ¼lewg vfHkdeZd½ 

 I.  
2H  S  ruq HCl dh mifLFkfr esa 

2H  S  xSl  

 II.  4NH OHdh mifLFkfr esa ( )4 32
NH CO  

 III.  
4NH Cl dh mifLFkfr esa 

4NH OH   

 IV.  
4NH OH  dh mifLFkfr esa 

2H  S  

 uhps fn, x, fodYiksa esa ls lgh mÙkj dk p;u 

dhft,A 

  A       B       C     D 

 (1) III     I        IV      II  

 (2) I       III      IV     II  

 (3) I       III      II       IV 

 (4) IV    III      III     I 

84.  ;fn Li,Be,  vkSj C dh igyh vk;uu ,UFkSYih  Øe”k% 

gSa 
1520,899,1086 kJ mol−  rks B dh izFke vk;uu 

,UFkSYih ¼
1kJmol−
 esa½ gksxh% 

 (1) 487 (2) 950 

 (3) 801 (4) 1402 

85.  lwph&I dks lwph&II ds lkFk lqesfyr dhft,A 

 lwph&I 

 A. eq[; DokaVe la[;k 

 B. vtheqFky DokaVe la[;k 

 C. pqacdh; DokaVe la[;k 

 D. pØ.k DokaVe la[;k 

 lwph&II 

 I.   inkFkZ ds pqacdh; xq.k 

 II. fdlh midks'k esa mfiLFkr d{kdksa dh la[;k 

 III. ,d d{kk esa fofHkUu midks'k dh lkisf{kd ÅtkZ 

 IV. ,dy bysDVª‚u ç.kkyh esa bysDVª‚u dh ÅtkZ 

 V. ,d dks'k esa ekStwn bysDVª‚u dk dks.kh; laosx 



 

Space for rough work 

 

 

 

 

 

 

 

 

 

 

 

 

Narayana Jaipur HO: B.28, Gopalpura Bypass Road, 10.B Scheme, Near Ridhi Sidhi Circle, Jaipur, Rajasthan 302018 
(25) 

 

 Choose the correct answer from the options given 

below. 

  A       B       C     D 

 (1) III     IV      I      IV  

 (2) IV     III      I      II  

 (3) IV     III      II     I 

 (4) V      IV      II     I 

86.  Identify the product Z in the reaction.  

 
32 H OCONaOH

4 7atm410k
Phenol X Y Z

+

−
→ → →  

 (1) Aspirin (2) Salicylaldehyde 

 (3) Salicyllic acid (4) Benzoic acid 

87.  Which of the following is not an example of a redox 

reaction? 

 (1) 2 2CuO H Cu H O+ → +  

 (2) 2 3 2Fe O 3CO 2Fe 3CO+ → +  

 (3) 2 2H Cl 2HCl+ →  

 (4) 2 2 4 4BaCl H SO BaSO 2HCl+ → +  

88. Match List-I with List-II 

  

 Choose the correct answer from the options given 

below. 

  A       B       C     D 

 (1) III     I         IV      II  

 (2) II      I         IV      III  

 (3) II      IV      I         III 

 (4) III     IV      I         II 

 uhps fn, x, fodYiksa esa ls lgh mÙkj dk p;u 

dhft,A 

  A       B       C     D 

 (1) III     IV      I      IV  

 (2) IV     III      I      II  

 (3) IV     III      II     I 

 (4) V      IV      II     I 

86.  vfHkfØ;k esa mRikn Z dh igpku dhft,A  

 
32 H OCONaOH

4 7atm410k
Phenol X Y Z

+

−
→ → →  

  (1) ,fLifju  (2) lSfyflysfYMgkbM 

 (3) lSfylkbfyd vEy  (4) csatksbd vEy 

87.  fuEufyf[kr esa ls dkSu lk jsM‚Dl vfHkfØ;k dk 

mnkgj.k ugha gS\ 

 (1) 2 2CuO H Cu H O+ → +  

 (2) 2 3 2Fe O 3CO 2Fe 3CO+ → +  

 (3) 2 2H Cl 2HCl+ →  

 (4) 2 2 4 4BaCl H SO BaSO 2HCl+ → +  

88. lwph&I dks lwph&II ds lkFk lqesfyr dhft, 

   

 uhps fn, x, fodYIksa esa ls lgh mÙkj dk p;u 

dhft,A 

  A       B       C     D 

 (1) III     I         IV      II  

 (2) II      I         IV      III  

 (3) II      IV      I         III 

 (4) III     IV      I         II 
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89. 

 what is B  

 (1)  (2)  

 (3)  (4)  

90.  Statement I : In Lucas test, primary, secondary and 

tertiary alcohols are distinguished on the basis of their 

reactivity with conc. 2HCl ZnCl ,+ known as Lucas 

Reagent. 

 Statement II: Primary alcohols are most reactive and 

immediately produce turbidity at room temperature 

on reaction with Lucas Reagent. 

  

 (1)  Both statement I and statement II are incorrect. 

 (2) Statement I is correct but statement II is incorrect. 

 (3) Statement I is incorrect but statement II is correct. 

 (4) Both statement I and statement II are correct. 

89. 

 rks B D;k gS  

 (1)  (2)  

 (3)  (4)  

90.  dFku I % yqdkl ijh{k.k esa] çkFkfed] ek/;fed vkSj 

r`rh;d vYdksgy dks lkUnz- 2HCl ZnCl ,+  ds lkFk 

mudh vfHkfØ;k'khyrk ds vk/kkj ij foHksfnr fd;k 

tkrk gSA  

 dFku II% çkFkfed vYdksgy lcls vf/kd 

vfHkfØ;k'khy gksrs gSa vkSj yqdkl vfHkdeZd ds lkFk 

vfHkfØ;k ij rqjar dejs ds rkieku ij eSykiu iSnk 

djrs gSaA 

 (1)  dFku I vkSj dFku II nksuksa xyr gSaA 

 (2) dFku I lgh gS ysfdu dFku II xyr gSA 

 (3) dFku I xyr gS ysfdu dFku II lgh gSA 

 (4) dFku I vkSj dFku II nksuksa lgh gSaA 
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PART – III : BOTANY 
91. The process of splicing represents 

 (1) Dominance of RNA world 

 (2) An ancient feature of genome 

 (3) Dominance of DNA world 

 (4) DNA as a highly stable genetic material 

92. Which complex polysaccharide forms the 

exoskeleton of arthropods? 

 (1) Cellulose (2) Chitin 

 (3) Starch (4) Glycogen 

 

93. Observe the following diagram related to rDNA 

technology and choose an appropriate option w.r.t. 

its purpose. 

 

 (1) To enhance DNA replication in vitro. 

 (2) To precipitate and collect DNA by spooling. 

 (3) To denature the DNA into single strands. 

 (4) To measure the concentration of DNA in 

solution. 

94. Choose the odd one for anaerobic respiration. 

 (1) It occurs in prokaryotes only 

 (2) It occurs in the absence of O2 

 (3) Net gain is only two molecules of ATP from 

each glucose molecule. 

 (4) It is only partial oxidation of glucose. 

 

 

 

91. LIykbflax dh çfØ;k n'kkZrh gS 

 (1) RNA lalkj dh izHkkfork 

 (2) thukse ds çkphu y{k.k 

 (3) DNA lalkj dh izHkkfork 

 (4) DNA ,d vR;f/kd fLFkj vkuqoaf'kd lkexzh gSa 

92. dkSu lk tfVy i‚yhlsdsjkbM vkFkZzksiksM~l ds 

,DlksLdsysVu dk fuekZ.k djrk gS\ 

 (1) lsy;ksykst (2) dkbfVu 

 (3) ek¡M (4) Xykbdkstu 

93. rDNA çkS|ksfxdh ls lacaf/kr fuEufyf[kr vkjs[k dk 

voyksdu dhft, vkSj blds mís'; ds laca/k esa ,d 

mi;qä fodYi pqfu,A 

 

 (1) bu foVªks esa DNA çfr—fr c<+kus ds fy,A 

 (2) Liwfyax }kjk DNA dks vo{ksfir vkSj ,d= djukA 

 (3) DNA dks ,dy fdLesa esa fo—r djus ds fy,A 

 (4) lek/kku esa DNA dh ,dkxzrk dks ekius ds fy,A 

 

94. vok;oh; 'olu ds fy, fo"ke pqusaA 

 (1) ;g dsoy çksdSfj;ksV~l esa gksrk gS 

 (2) ;g O2 dh vuqifLFkfr esa gksrk gS 

 (3) çR;sd Xywdkst v.kq ls ATP  dk 'kq) ykHk dsoy 

nks v.kq gSa 

 (4) ;g Xywdkst dk dsoy vkaf'kd v‚Dlhdj.k gSA 
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95. Given below are two statements. One is labelled 

Assertion (A) and the other is labelled Reason (R). 

 Assertion (A): Gingelly oil remains as oil in 

winter. 

 Reason (R): Gingelly oil has a lower melting point. 

 In light of the above statements, choose the correct 

answer from the options given below. 

 (1) (A) is true but (R) is false. 

 (2) Both (A) and (R) are true and (R) is the correct 

explanation of (A). 

 (3) Both (A) and (R) are true but (R) is not the 

correct explanation of (A). 

 (4) Both (A) and (R) are false. 

96. Which of the following examples show tetramerous 

flowers, parietal placentation in the ovary, and a 

siliqua type of fruit? 

 A. Wheat B. Petunia 

 C. Sunflower D. Mustard 

 Choose the correct answer from the options given 

below: 

 (1) C only (2) A and B only 

 (3) A and D only (4) D only 

97. In bacteria, small bristle-like fibers sprouting out of 

the cell, which help in attachment of bacteria to the 

host surface are known as 

 (1) Pili (2) Fimbriae 

 (3) Flagella (4) Cilia 

98. The branch of taxonomy that is based on 

cytological information like chromosome structure, 

number, and behaviour is 

 (1) Chemotaxonomy 

 (2) Cytotaxonomy 

 (3) Numerical taxonomy 

 (4) Plant taxonomy 

 

 

95. uhps nks dFku fn, x, gSaA ,d dks dFku (A) vkSj nwljs 

dks dkj.k (R)  ds :i esa yscy fd;k x;k gSA 

 dFku (A): lfnZ;ksa esa rsy ds :i esa fxaxsyh rsy jgrk 

gSA 

 dkj.k (R): fxaxyh rsy dk xyukad de gksrk gSA 

 mijksä dFkuksa ds vkyksd esa] uhps fn, x, fodYiksa esa 

ls lgh mÙkj dk p;u dhft,A 

 (1) (A) lR; gS ysfdu (R)  vlR; gSA 

 (2) (A) vkSj (R)  nksuksa lR; gSa vkSj (R) ] (A) dh lgh 

O;k[;k gSA 

 (3) (A) vkSj (R) nksuksa lR; gSa ysfdu (R) (A) dk lgh 

Li"Vhdj.k ugha gSA 

 (4) (A) vkSj (R)  nksuksa vlR; gSaA 

96. fuEufyf[kr esa ls dkSu lk mnkgj.k prq"dr;h iq"Ik] 

vaMk'k; esa fHkÙkh; chtk.MU;kl vkSj ,d flfydqvk 

çdkj dk Qy n'kkZrk gS\ 

 A. xsgw¡ B. ihVwfu;k 

 C. lwjteq[kh D. ljlksa 

 uhps fn, x, fodYiksa esa ls lgh mÙkj dk p;u dhft,% 

 (1) dsoy C (2) dsoy A vkSj B 

 (3) dsoy A vkSj D (4) dsoy D 

97. cSDVhfj;k esa] dksf'kdk ls ckgj fudyus okys NksVs fczly 

tSls rarqvksa dks fdl :i esa tkuk tkrk gS] tks est+cku 

Ård ds lkFk tqM+us esa enn djrs gSa\ 

 (1) fiykb (2) fQfEcz 

 (3) d'kkfHkdk (4) flfy;k 

98. xq.klw= lajpuk] la[;k vkSj O;ogkj tSlh dksf'kdk laca/kh 

tkudkjh ij vk/kkfjr oxhZdj.k dh 'kk[kk D;k gS\ 

 (1) dheksVSDlksu‚eh 

 (2) lkbVksVSDlksu‚eh 

 (3) la[;kRed oxhZdj.k 

 (4) IykaV VSDlksu‚eh 
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99. How many generations of mitotic divisions are 

required to produce 64 cells from a single 

meristematic cell through mitotic division? 

 (1) 7 (2) 6 

 (3) 63 (4) 3 

100. Given below are two statements. 

 Statement I: Prosthetic groups are organic 

compounds that are loosely bound to the 

Apoenzyme. 

 Statement II: An apoenzyme may be an organic or 

inorganic component. 

 In light of the above statements, choose the correct 

answer from the options given below. 

 (1) Both statement I and statement II are correct. 

 (2) Both statement I and statement II are incorrect. 

 (3) Statement I is correct but statement II is 

incorrect. 

 (4) Statement I is incorrect but statement II is 

correct. 

101. Unequivocal proof that DNA is the genetic material 

was first given by 

 (1) Wilkins and Franklin 

 (2) Frederick Griffith 

 (3) Alfred Hershey and Martha Chase 

 (4) Avery, MacLeod and McCarty 

102. Select the correct pair of plants, showing two leaves 

at each node. 

 (1) Mustard and Alstonia 

 (2) China rose and Sunflower 

 (3) Alstonia and Mustard 

 (4) Calotropis and Guava 

 

 

 

 

 

99. lelw=h foHkktu ds ek/;e ls ,dy foHkT;ksrd 

dksf'kdk ls 64 dksf'kdkvksa dk mRiknu djus ds fy, 

lelw=h foHkktu dh fdruh ihf<+;ksa dh vko';drk gksrh 

gS\ 

 (1) 7 (2) 6 

 (3) 63 (4) 3 

100. uhps nks dFku fn, x, gSaA 

 dFku I: çksLFksfVd lewg dkcZfud ;kSfxd gksrs gSa tks 

f'kfFky :i ls ,iks,atkbe ls ca/ks gksrs gSaA 

 dFku II: ,d ,iksustkbe ,d dkcZfud ;k vdkcZfud 

?kVd gks ldrk gSA 

 mijksä dFkuksa ds vkyksd esa uhps fn, x, fodYiksa esa 

ls lgh mÙkj dk p;u dhft,A 

 (1) dFku I vkSj dFku II nksuksa lgh gSaA 

 (2) dFku I vkSj dFku II nksuksa xyr gSaA 

 (3) dFku I lgh gS ysfdu dFku II xyr gSA 

 (4) dFku I xyr gS ysfdu dFku II lgh gSA 

 

101. DNA vkuqoaf'kd lkexzh gS] bldk izFke fcuk fdlh 

lansg dk izek.k fdlds }kjk fn;k x;k Fkk\ 

 (1) fofYdal vkSj ÝSadfyu 

 (2) ÝsMfjd fxzfQFk 

 (3) vYÝsM g"ksZ vkSj ekFkkZ psl 

 (4) ,ojh] eSdfy;ksM vkSj eSddkVhZ 

102. ikni dh lgh tksM+h dk p;u djsa] ftlesa çR;sd ioZ 

laf/k ij nks i.kZ fn[kkbZ nsrh gSaA 

 (1) ljlksa vkSj ,YLVksfu;k 

 (2) xqMgy vkSj lwjteq[kh 

 (3) ,YLVksfu;k vkSj ljlksa 

 (4) dSyksVªksfil vkSj ve:n 
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103. Given below are two statements. 

 Statement I: Both DNA polymerase and RNA 

polymerase catalyze polymerization in only one 

direction, that is 5'→3'. 

 Statement II: Both DNA polymerase and RNA 

polymerase are involved during the replication of 

DNA as well as transcription processes. 

 In light of the above statements, choose the correct 

answer from the options given below. 

 (1) Both statement I and statement II are correct. 

 (2) Both statement I and statement II are incorrect. 

 (3) Statement I is correct but statement II is 

incorrect. 

 (4) Statement I is incorrect but statement II is 

correct. 

104. Given below are two statements. One is labelled 

Assertion (A) and the other is labelled Reason (R). 

 Assertion (A): The china rose flower has 

monoadelphous stamens. 

 Reason (R): In the china rose flower, the filaments 

of stamens are fused into a single bundle.  

 In light of the above statements, choose the correct 

answer from the options given below. 

 (1) Both (A) and (R) are true and (R) is the correct 

explanation of (A). 

 (2) Both (A) and (R) are true but (R) is not the 

correct explanation of (A). 

 (3) (A) is true but (R) is false. 

 (4) Both (A) and (R) are false. 

103. uhps nks dFku fn, x, gSaA 

 dFku I: DNA iksyhejst vkSj RNA iksyhejst nksuksa 

dsoy ,d fn'kk esa cgqydhdj.k dks mRçsfjr djrs gSa] 

tks fd 5'→3' gSA 

 dFku II: DNA iksyhejst vkSj RNA iksyhejst nksuksa 

DNA dh çfr—fr ds lkFk&lkFk çfrys[ku çfØ;kvksa 

ds nkSjku 'kkfey gksrs gSaA 

 mijksä dFkuksa ds vkyksd esa uhps fn, x, fodYiksa esa 

ls lgh mÙkj dk p;u dhft,A 

 (1) dFku I vkSj dFku II nksuksa lgh gSaA 

 (2) dFku I vkSj dFku II nksuksa xyr gSaA 

 (3) dFku I lgh gS ysfdu dFku II xyr gSA 

 (4) dFku I xyr gS ysfdu dFku II lgh gSA 

 

104. uhps nks dFku fn, x, gSaA ,d dks dFku (A) vkSj nwljs 

dks dkj.k (R)  ds :i esa yscy fd;k x;k gSA 

 dFku (A): xqM+gy ds iq"i esa ,dla?kh iqadslj gksrs gSaA 

 dkj.k (R): xqM+gy ds iq"i esa] iqadslj ds rarq dks ,d 

gh caMy esa layf;r gSA  

 mijksä dFkuksa ds vkyksd esa uhps fn, x, fodYiksa esa 

ls lgh mÙkj dk p;u dhft,A 

 (1) (A) vkSj (R)  nksuksa lR; gSa vkSj (R), (A) dh lgh 

O;k[;k gSA 

 (2) (A) vkSj (R) nksuksa lR; gSa ysfdu (R), (A) dk lgh 

Li"Vhdj.k ugha gSA 

 (3) (A) lR; gS ysfdu (R)  vlR; gSA 

 (4) (A) vkSj (R)  nksuksa vlR; gSaA 
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105. Read the following statements (A to D). 

 A. Adenovirus causes respiratory infections. 

 B. The ‘Roquefort cheese’ is ripened by growing 

a specific bacterium on it. 

 C. The LAB plays very beneficial role in checking 

disease-causing microbes. 

 D. Acetobacter aceti is a good source of citric acid. 

 Select the correct answer from the given options by 

identifying the above statements as True (T) or 

False (F). 

  (A) (B) (C) (D) 

 (1) T T F F 

 (2) T F T F 

 (3) F F T T 

 (4) F T F T 

106. If any protein encoding gene is expressed in a 

heterologous host, then the protein is known as 

  

 (1) Recombinant gene 

 (2) Recombinant protein 

 (3) Selectable marker 

 (4) Homogenous protein 

107. The initiation of lateral roots and vascular cambium 

in the dicot root takes place from a portion of 

 (1) Pericycle (2) Epidermis 

 (3) Endodermis (4) General cortex 

108. Given below are the statements related to human 

blood groups 

 i. Blood groups A and B can be due to 

dominance. 

 ii. Blood group AB can be due to co-dominance. 

 iii. All multiple alleles can be observed in the O 

blood group. 

 iv. Blood groups AB and O can be due to 

incomplete dominance. 

 In light of the above statements, choose the correct 

pair of statements from the options given below. 

 (1) i and ii only 

 (2) ii and iii only 

 (3) iii and iv only 

 (4) i and iv only 

105. fuEufyf[kr dFkuksa ¼A ls D½ dks if<+,A 

 A. ,Msuksok;jl 'olu laØe.k dk dkj.k curk gSA 

 B. ^jksDQksVZ iuhj^ dks ml ij ,d fof'k"V thok.kq 

mxkdj idk;k tkrk gSA 

 C. LAB jksx iSnk djus okys jksxk.kqvksa dh tkap esa 

cgqr Qk;nsean Hkwfedk fuHkkrk gSA 

 D. ,lhVkscSDVj ,lsVh lkbfVªd ,flM dk ,d vPNk 

lzksr gSA 

 fn, x, fodYiksa esa ls mijksä dFkuksa dh igpku lR; 

(T) vFkok vlR; (F) djds lgh mÙkj dks pqfu,A 

  (A) (B) (C) (D) 

 (1) T T F F 

 (2) T F T F 

 (3) F F T T 

 (4) F T F T 

106. ;fn fdlh Hkh çksVhu ,UdksfMax thu dks ,d fo"ke 

estcku esa O;ä fd;k tkrk gS] rks çksVhu dks fdl :i 

esa tkuk tkrk gS\ 

 (1) iqu% la;kstd thu 

 (2) iqu% la;kstd çksVhu 

 (3) p;u ;ksX; ekdZj 

 (4) le:i çksVhu 

107. f}chti=h ewy esa ik'oZ ewy vkSj laoguh ,/kk dk izkjEHk 

fdl Hkkx ls gksrk gSa 

 (1) ifjjaHk (2) vf/kpeZ 

 (3) ,aMksMfeZl (4) lkekU; oYdwV 

108. uhps ekuo jä lewgksa ls lacaf/kr dFku fn, x, gSa 

  

 i. jä lewg A vkSj B izHkkfork ds dkj.k gks ldrs 

gSaA 

 ii. jä lewg AB lg&izHkkfork ds dkj.k gks ldrk 

gSA 

 iii. O jä lewg esa lHkh cgq,yhy ns[ks tk ldrs gSaA 

 iv. jä lewg AB vkSj O viw.kZ izHkkfork ds dkj.k gks 

ldrs gSaA 

 mijksä dFkuksa ds vkyksd esa uhps fn, x, fodYiksa esa 

ls dFkuksa dh lgh tksM+h pqfu,A 

 (1) dsoy i rFkk ii 

 (2) dsoy ii rFkk iii 

 (3) dsoy iii rFkk iv 

 (4) dsoy i rFkk iv 
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109. Study the following statements. 

 a. No amino acid has more than four codons. 

 b. The genetic code is degenerate and nearly 

universal. 

 c. Three codons act as stop codons. 

 d. The codon UGG codes for methionine. 

 In light of the above statements related to the 

genetic code, choose the correct answer from the 

options given below. 

 (1) a and b are correct. 

 (2) b and c are incorrect. 

 (3) c and d are correct. 

 (4) a and d are incorrect. 

110. Match List-I with List-II.  

  List–I  List–II 

A. High powered I. Restriction enzyme 

  detergents   

B. Polymerase  II. Dissolution of unit 

  Chain Reaction  membranes 

 C. pBR 322 III. Primer annealing 

 D. Sticky ends IV. Synthetic vector 

 Choose the correct answer from the options given 

below. 

  (A) (B) (C) (D) 

 (1) II III IV I 

 (2) I IV I III 

 (3) II III I IV 

 (4) II I IV III 

111. _____ is the chief pigment associated with 

photosynthesis. 

 (1) Chlorophyll-a (2) Chlorophyll-b 

 (3) Xanthophyll (4) Carotenes 

112. Who experimentally verified the chromosomal 

theory of inheritance? 

 (1) Gregor Mendel (2) Thomas Hunt Morgan 

 (3) Carl Correns (4) Hugo de Vries 

109. fuEufyf[kr dFkuksa dk v/;;u dhft,A 

 A. fdlh Hkh vehuks vEy ds pkj ls vf/kd dksMksu ugha 

gksrs gSaA 

 B. vkuqoaf'kd dksM viâkflr vkSj yxHkx lkoZHkkSfed 

gSA 

 C. rhu dksMksu LV‚i dksMksu ds :i esa dk;Z djrs gSaA 

 D. dksMksu UGG esfFk;ksuhu dks dksM djrk gSaA 

 vkuqoaf'kd dksM ls lacaf/kr mijksä dFkuksa ds vkyksd 

esa uhps fn, x, fodYiksa esa ls lgh mÙkj dk p;u 

dhft,A 

 (1) a rFkk b lgh gSaA 

 (2) b rFkk c xyr gSaA 

 (3) c rFkk d lgh gSaA 

 (4) a rFkk d xyr gSaA 

110. lwph-I dks lwph-II ds lkFk lqesfyr dhft,A  

  lwph-I  lwph-II 

 A. mPp 'kfä I. çfrca/k ,atkbe 

  fMVtsaZV   

 B. iksyhejst  II. bdkbZ dk fo?kVu 

  fØ;k  f>Yyh 

 C. pBR 322 III. çkbej ,uhfyax 

 D. fpifpik var IV. flaFksfVd osDVj 

 uhps fn, x, fodYiksa esa ls lgh mÙkj dk p;u dhft,A 

  (A) (B) (C) (D) 

 (1) II III IV I 

 (2) I IV I III 

 (3) II III I IV 

 (4) II I IV III 

111. _____ çdk'k la'ys"k.k ls lacaf/kr eq[; o.kZd gSA 

 (1) DyksjksfQy-a (2) DyksjksfQy-b 

 (3) tSaFkksfQy (4) dSjksVhu 

112. oa'kkuqØe ds xq.klw=h; fl)kar dks fdlus ç;ksxkRed 

:i ls lR;kfir fd;k\ 

 (1) xzsxj esaMy (2) Fk‚el gaV e‚xZu 

 (3) dkyZ d‚jsal (4) áwxks Ms ozhl 
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113. Which of the following traits of the pea plant is 

expressed only in homozygous condition? 

 (1) Inflated pod (2) Violet flowers 

 (3) Axial flowers (4) Yellow pod 

114. The phytohormone responsible for ‘Respiratory 

climactic’ is also responsible for 

 (1) Lateral shoot growth and adventitious shoot 

formation. 

 (2) Senescence and abscission of plant organs. 

 (3) Elongation and improvement of the shape of 

fruits like apple. 

 (4) Preventing the abscission of leaves and fruits at 

early stages but promoting the same in older 

and mature stages. 

115. Identify the correct statement about the G1 phase of 

the cell cycle. 

 (1) The cell is metabolically inactive. 

 (2) DNA in the cell does not replicate. 

 (3) Synthesis of macromolecules does not occur. 

 (4) The cell stops its growth. 

116. Given below are two statements: One is labelled 

Assertion (A) and the other is labelled as Reason 

(R). 

 Assertion (A): Chromosomes become gradually 

visible under light microscope during the leptotene 

stage. 

 Reason (R): The beginning of the diplotene stage 

is recognised by the dissolution of the 

synaptonemal complex. 

 In light of the above statements, choose the correct 

answer from the options given below: 

 (1) Both (A) and (R) are true and (R) is the correct 

explanation of (A). 

 (2) Both (A) and (R) are true but (R) is not the 

correct explanation of (A). 

 (3) (A) is true but (R) is false. 

 (4) Both (A) and (R) are false. 

113. eVj ds ikS/ks ds fuEufyf[kr esa ls dkSu lk y{k.k dsoy 

le;qXeth fLFkfr esa O;ä fd;k tkrk gS\ 

 (1) Qqyh gqbZ Qyh (2) cSaxuh iq"i 

 (3) v{kh; iq"i (4) ihyh Qyh 

114. ^DykbeSfDVd 'olu^ ds fy, ftEesnkj ikni gkeksZu vkSj 

fdlds fy, ftEesnkj gS\ 

 (1) ik'oZ izjksg o`f) vkSj viLFkkfud izjksg fuekZ.kA 

  

 (2) ikni vaxksa dh th.kZrk vkSj foyxuA 

 (3) lsc tSls Qyksa ds vkdkj dk c<+ko vkSj lq/kkjA 

 (4) çkjafHkd voLFkk esa ifÙk;ksa vkSj Qyksa ds foyxu dks 

jksduk ysfdu iqjkus vkSj ifjiDo voLFkk esa bls 

c<+kok nsukA 

115. dksf'kdk pØ ds G1 pj.k ds ckjs esa lgh dFku dh 

igpku djsaA 

 (1) dksf'kdk mikip; :i ls fuf"Ø; gSA 

 (2) dksf'kdk esa DNA çfr—fr ugha djrk gSA 

 (3) o`gn~ v.kqvksa dk la'ys"k.k ugha gksrk gSA 

 (4) dksf'kdk viuh o`f) dks jksd nsrh gSA 

116. uhps nks dFku fn, x, gSaA ,d dks dFku (A) vkSj nwljs 

dks dkj.k (R)  ds :i esa yscy fd;k x;k gSA 

 dFku (A): ysIVksVhu pj.k ds nkSjku xq.klw= /khjs&/khjs 

çdk'k lw{en'khZ ds rgr fn[kkbZ nsrs gSaA 

 dkj.k (R): fMIyksVhu pj.k dh 'kq#vkr dks 

fluSIVksusey d‚EIysDl ds fo?kVu }kjk igpkuk tkrk 

gSA 

 mijksä dFkuksa ds vkyksd esa uhps fn, x, fodYiksa esa 

ls lgh mÙkj dk p;u dhft,% 

 (1) (A) vkSj (R)  nksuksa lR; gSa vkSj (R), (A) dh lgh 

O;k[;k gSA 

 (2) (A) vkSj (R) nksuksa lR; gSa ysfdu (R), (A) dk lgh 

Li"Vhdj.k ugha gSA 

 (3) (A) lR; gS ysfdu (R)  vlR; gSA 

 (4) (A) vkSj (R)  nksuksa vlR; gSaA 
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117. Match List-I with List–II.  

  List-I   List-II 

 A. i gene I. β–galactosidase 

 B. z gene II. Permease 

 C. a gene III. Repressor 

 D. y gene IV. Transacetylase 

 Choose the correct answer from the options given 

below. 

  (A) (B) (C) (D) 

 (1) I III II IV 

 (2) III I II IV 

 (3) III I IV II 

 (4) III IV I II 

118.    A    and    B    constitute the complex tissues in 

plants. 

 (1) A – Xylem; B – phloem 

 (2) A – Parenchyma; B – collenchyma 

 (3) A – Parenchyma; B – sclerenchyma 

 (4) A – Collenchyma; B – sclerenchyma 

119. Bt toxin kills insects by 

 (1) Inhibiting protein synthesis. 

 (2) Generating excessive acid in stomach. 

 (3) Creating pores in the midgut epithelial cells, 

leading to cell swelling and lysis. 

 (4) Obstructing a biosynthetic pathway. 

 

 

 

 

 

 

 

 

 

 

117. lwph-I dks lwph-II ds lkFk lqesfyr dhft,A  

  lwph-I   lwph-II 

 A. i thu I. β–xSysDVksflMst 

 B. z thu II. ijeh,t 

 C. a thu III. neudkjh 

 D. y thu IV. Vªkal,flVkbyst 

 uhps fn, x, fodYiksa esa ls lgh mÙkj dk p;u dhft,A 

  (A) (B) (C) (D) 

 (1) I III II IV 

 (2) III I II IV 

 (3) III I IV II 

 (4) III IV I II 

118.    A    rFkk    B    ikS/kksa esa tfVy Ård gSaA 

  

 (1) A & tkbye; B & ¶yks,e 

 (2) A & iSjsUdkbek; B & dksysudkbek 

 (3) A & iSjsUdkbek; B & LDysjsUdkbek 

 (4) A & dksysudkbek; B & LDysjsUdkbek 

119. Bt VkWfDlu dhM+ksa dks ekjrk gS 

 (1) çksVhu la'ys"k.k dks jksdukA 

 (2) isV esa vR;f/kd ,flM mRiUu djukA 

 (3) feMxV midyk dksf'kdkvksa esa fNæ cukuk] ftlls 

dksf'kdk lwtu vkSj ylhdk gks tkrk gSA 

 (4) ,d ck;ksflaFksfVd ekxZ esa ck/kkA 
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120. Observe the labels A to D in the diagram of the fruit 

in apple. 

 

 Select the correct answer from the options given 

below, which is labelled as thalamus. 

 (1) B (2) C 

 (3) D (4) A 

121. Read the following statements (A to D). 

 A. DNA is loaded onto agarose gel towards the 

anode terminal. 

 B. DNA fragments are stained by acetocarmine. 

  

 C. The smaller the size of a DNA fragment, the 

longer is the distance it travels through the gel. 

 D. Pure DNA cannot be visualised directly by 

exposing it to UV radiation without any 

staining. 

 Select the correct answer from the given options by 

identifying the above statements as True (T) or 

False (F). 

  (A) (B) (C) (D) 

 (1) T T F T 

 (2) T F T F 

 (3) F T F T 

 (4) F F T T 

 

 

 

 

120. lsc Qy ds vkjs[k esa A ls D rd ds yscy dk fujh{k.k 

djsaA 

 

 uhps fn, x, fodYiksa esa ls lgh mÙkj dk p;u dhft,] 

ftls iq"iklu ds :i esa yscy fd;k x;k gSA 

 (1) B (2) C 

 (3) D (4) A 

121. fuEufyf[kr dFkuksa (A ls D) dks if<+,A 

 A. DNA dks ,uksM VfeZuy dh vksj vxkjkst tsy ij 

yksM fd;k tkrk gSA 

 B. DNA ds VqdM+s ,flVksdkekZbu }kjk nkx fn, tkrs 

gSaA 

 C. DNA VqdM+s dk vkdkj ftruk NksVk gksrk gS] tsy 

ds ek/;e ls og mruh gh yach nwjh r; djrk gSA 

 D. 'kq) DNA dks fcuk fdlh /kqa/kyk gq, UV fofdj.k 

ds laidZ esa ykdj lh/ks dYiuk ugha dh tk ldrh 

gSA 

 fn, x, fodYiksa esa ls mijksä dFkuksa dh igpku lR; 

(T) vFkok vlR; (F) djds lgh mÙkj dks pqfu,A 

  (A) (B) (C) (D) 

 (1) T T F T 

 (2) T F T F 

 (3) F T F T 

 (4) F F T T 
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122. Match List-I with List-II. 

  List-I   List-II 

 A. Terpenoides I. Codeine 

 B. Lectins II. Diterpenes 

 C. Alkaloids III. Ricin 

 D. Toxins IV. Concanavalin A 

 Choose the correct answer from the options given 

below. 

  (A) (B) (C) (D) 

 (1) II IV III I 

 (2) II I IV III 

 (3) II III I IV 

 (4) II IV I III 

123. In C3 plant primary CO2 acceptor is – 

 (1) RUBP (2) PGA 

 (3) PEP (4) OAA 

124. The transfer of pollen grains from the anther to the 

stigma of another flower of the same plant is called 

 (1) Xenogamy 

 (2) Plasmogamy 

 (3) Cleistogamy 

 (4) Geitonogamy 

125. Observe the followng diagram. 

 

 Identify the correct answer w.r.t. the above 

organism. 

 (1) It belongs to the kingdom Protista according to 

the five-kingdom classification. 

 (2) It does not contain membrane-bound cell 

organelles. 

 (3) It forms diatomaceous earth after its death. 

 (4) It moves with the help of psuedopodia. 

122. lwph-I dks lwph-II ds lkFk lqesfyr dhft,A 

  lwph-I   lwph-II 

 A. VsjisuksbM~l I. dksMhu 

 B. ysfDVUl II. MkbVjisu 

 C. ,Ydy‚bM III. fjflu 

 D. fo"kkä inkFkksaZ IV. d‚udSukofyu A 

 uhps fn, x, fodYiksa esa ls lgh mÙkj dk p;u dhft,A 

  (A) (B) (C) (D) 

 (1) II IV III I 

 (2) II I IV III 

 (3) II III I IV 

 (4) II IV I III 

123. C3 ikni esa izkFkfed CO2 xzkgh gSa & 

 (1) RUBP (2) PGA 

 (3) PEP (4) OAA 

124. ijkxdks'k ls mlh ikni ds nwljs iq"i ds ofrZdkxz esa 

ijkxd.kksa dk LFkkukarj.k D;k dgykrk gS\ 

 (1) ftuksxkeh 

 (2) IykLeksxSeh 

 (3) fDyLVksxSeh 

 (4) thVsuksxkeh 

125. fuEufyf[kr vkjs[k dk çs{k.k dhft,A 

 

 mijksä tho ds laca/k esa lgh mÙkj dh igpku dhft,A 

 (1) ;g ikap&txr oxhZdj.k ds vuqlkj çksfVLVk txr 

ls lacaf/kr gSA 

 (2) blesa f>Yyh ls caf/kr dksf'kdk vax ugha gksrs gSaA 

 (3) ;g viuh e`R;q ds ckn Mk;Vksesfl;l e`nk cukrk 

gSA 

 (4) ;g vkHkklhikn dh enn ls xfr djrk gSA 
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126. Which component contributes 10–15% to the total 

cellular mass? 

 (1) Carbohydrates 

 (2) Lipids 

 (3) Proteins 

 (4) Nucleic acids 

127. Study the following events of equational division. 

 a. Disappearance of nuclear envelope. 

 b. Conversion of chromosome clusters into 

chromatin. 

 c. Movement of chromatids to opposite poles. 

 d. Alignment of chromosomes on equatorial 

plate. 

 Choose the correct answer from the options given 

below, by identifying the events in the proper 

sequence. 

 (1) b, c, d, and a only 

 (2) d, b, a, and c only 

 (3) c, a, b, and d only 

 (4) a, d, c, and b only 

128. Which of the following is not related to the 

functions of the Golgi apparatus? 

 (1) Packaging of materials for intra-cellular targets 

 (2) Synthesis of glycoproteins and glycolipids 

 (3) Modification of proteins formed from the ER 

 (4) Synthesis of steroidal hormones 

129. Plants follow different pathways in response to 

environment or phases of life to form different 

kinds of structures. This ability is called 

 (1) Plasticity 

 (2) Differentiation 

 (3) Dedifferentiation 

 (4) Development 

 

 

 

126. dqy dksf'kdh; æO;eku esa dkSu lk ?kVd 10–15% 

;ksxnku nsrk gS\ 

 (1) dkcksZgkbMªsV 

 (2) fyfiM 

 (3) çksVhu 

 (4) U;wfDyd ,flM 

127. lw=h foHkktu dh fuEufyf[kr ?kVukvksa dk v/;;u 

dhft,A 

 A. dsUnzd vkoj.k dk xk;c gksukA 

 B. ØkseSfVu esa xq.klw= lewgksa dk :ikarj.kA 

 C. ØkseSfVM dk foijhr /kzwoksa dh vksj xfrA 

 D. e/;js[kh; IysV ij xq.klw=ksa dk lajs[k.kA 

 uhps fn, x, fodYiksa esa ls ?kVukvksa dks mfpr Øe esa 

igpkudj lgh mÙkj dk p;u dhft,A 

 (1) dsoy b, c, d, rFkk a 

 (2) dsoy d, b, a, rFkk c 

 (3) dsoy c, a, b, rFkk d 

 (4) dsoy a, d, c, rFkk b 

 

128. fuEufyf[kr esa ls dkSu xksYth ra= ds dk;ksaZ ls lacaf/kr 

ugha gS\ 

 (1) var%dksf'kdh; y{;ksa ds fy, lkexzh dh iSdsftax 

 (2) XykbdksçksVhu vkSj XykbdksfyfiM~l dk la'ys"k.k 

 (3) ER ls xfBr çksVhu dk :ikarj.k 

 (4) fLVjksbMy gkeksZu dk la'ys"k.k 

129. ikni fofHkUu çdkj dh lajpukvksa dks cukus ds fy, 

i;kZoj.k ;k thou ds pj.kksa ds tokc esa fofHkUu ekxksaZ 

dk ikyu djrs gSaA bl {kerk dks dgk tkrk gS 

 (1) IykfLVflVh 

 (2) foHksnu 

 (3) fofoHksnu 

 (4) ifjo/kZu 
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130. Read the following statements (A to D). 

 A. Animals, mammals, and dogs represent taxa at 

different levels. 

 B. Biological names are generally derived from 

Greek. 

 C. A group of related genera comprises a family. 

 D. In ascending hierarchy, the difficulty of 

classification decreases. 

 Select the correct answer from the given options by 

identifying the above statements as True (T) or 

False (F). 

  (A) (B) (C) (D) 

 (1) T F F T 

 (2) T T F F 

 (3) T F T F 

 (4) F T T F 

131. Given below are two statements. 

 Statement I: Endosperm is not completely 

consumed by the developing embryo in castor. 

 Statement II: The filiform apparatus present on the 

micropylar side of the embryo guides the entry of 

the pollen tube. 

 In light of the above statements, choose the correct 

answer from the options given below. 

 (1) Both Statement I and Statement II are correct. 

 (2) Both Statement I and Statement II are incorrect. 

 (3) Statement I is correct, but Statement II is 

incorrect. 

 (4) Statement I is incorrect, but Statement II is 

correct. 

 

 

 

 

 

 

 

130. fuEufyf[kr dFkuksa (A ls D) dks if<+,A 

 A. tUrq] Lru/kkjh vkSj dqÙks fofHkUu Lrjksa ij VSDlk dk 

çfrfuf/kRo djrs gSaA 

 B. tSfod uke vke rkSj ij xzhd ls fy, x, gSaA 

 C. lacaf/kr oa'k ds lewg ,d dwy cukrs gSaA 

 D. vkjksgh inkuqØe esa oxhZdj.k dh dfBukbZ de gks 

tkrh gSA 

 fn, x, fodYiksa esa ls mijksä dFkuksa dh igpku lR; 

(T) vFkok vlR; (F) djds lgh mÙkj dks pqfu,A 

   

 (A) (B) (C) (D) 

 (1) T F F T 

 (2) T T F F 

 (3) T F T F 

 (4) F T T F 

131. uhps nks dFku fn, x, gSaA 

 dFku I: vjaMh esa fodkl'khy Hkzw.k }kjk Hkzw.kiks"k dk iwjh 

rjg ls miHkksx ugha gksrk gSA 

 dFku II: Hkzw.k ds ekbØksikbyj fljs ij ekStwn rarq :i 

midj.k ijkx ufydk ds ços'k dk ekxZn'kZu djrk gSA 

 mijksä dFkuksa ds vkyksd esa uhps fn, x, fodYiksa esa 

ls lgh mÙkj dk p;u dhft,A 

 (1) dFku I vkSj dFku II nksuksa lgh gSaA 

 (2) dFku I vkSj dFku II nksuksa xyr gSaA 

 (3) dFku I lgh gS] ysfdu dFku II xyr gSA 

  

 (4) dFku I xyr gS] ysfdu dFku II lgh gSA 
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132. Read the following statements (A to D). 

 A. Two turns of Krebs’ cycle occur per each 

glucose molecule consumed during aerobic 

respiration. 

 B. Each turn of Krebs’ cycle produces three 

NADH, one FADH2 and one ATP molecule. 

 C. Complete aerobic respiration occurs in the 

mitochondria. 

 D. Water molecule is the final electron and proton 

acceptor in the ETS of the mitochondria. 

 Select the correct answer from the given options by 

identifying the above statements as True (T) or 

False (F). 

  (A) (B) (C) (D) 

 (1) T F F T 

 (2) T T F F 

 (3) T F T F 

 (4) F T T F 

133. Match List-I with List-II. 

  List-I  List-II 

 A. Psilopsida I. Equisetum 

 B. Lycopsida II. Selaginella 

 C. Sphenopsida III. Psilotum 

 D. Pteropsida IV. Dryopteris 

 Choose the correct answer from the options given 

below. 

  (A) (B) (C) (D) 

 (1) III II I IV 

 (2) II III I IV 

 (3) IV II III I 

 (4) III IV II I 

 

 

 

 

 

132. fuEufyf[kr dFkuksa (A ls D) dks if<+,A 

 A. ok;oh; 'olu ds nkSjku çR;sd Xywdkst v.kq ds 

[kir gsrq ØsCl pØ ds nks pØ gksrs gSaA 

 B. ØsCl pØ ds çR;sd pØ ls rhu NADH] ,d 

FADH2 vkSj ,d ATP v.kq mRiUu gksrk gSA 

 C. iw.kZ ok;oh; 'olu ekbVksd‚fUMª;k esa gksrk gSA 

 D. ekbVksd‚fUMª;k ds ETS esa ty dk v.kq vafre 

bysDVª‚u vkSj çksV‚u xzkgh gSA 

 fn, x, fodYiksa esa ls mijksä dFkuksa dh igpku lR; 

(T) vlR; (F) djds lgh mÙkj dks pqfu,A 

   

  (A) (B) (C) (D) 

 (1) T F F T 

 (2) T T F F 

 (3) T F T F 

 (4) F T T F 

 

133. lwph-I dks lwph-II ds lkFk lqesfyr dhft,A 

  lwph-I  lwph-II 

 A. lkbyksfIlMk I. bfDolsVe 

 B. ykbdksfIlMk II. flysftusyk 

 C. LQsuksfIlMk III. lkbyksVe 

 D. VsjksfIlMk IV. Mªk;ksIVsfjl 

 uhps fn, x, fodYiksa esa ls lgh mÙkj dk p;u dhft,A 

  (A) (B) (C) (D) 

 (1) III II I IV 

 (2) II III I IV 

 (3) IV II III I 

 (4) III IV II I 
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134. Given below are two statements. One is labelled 

Assertion (A) and the other is labelled as Reason 

(R). 

 Assertion (A): In eukaryotes, the negatively 

charged DNA is wrapped around the positively 

charged histone octamer to form nucleosome. 

 Reason (R): In prokaryotes, the positively charged 

DNA is held with some negatively charged proteins 

in a region called nucleoid. 

 In light of the above statements, choose the correct 

answer from the options given below. 

 (1) Both (A) and (R) are true and (R) is the correct 

explanation of (A). 

 (2) Both (A) and (R) are true but (R) is not the 

correct explanation of (A). 

 (3) (A) is true but (R) is false. 

 (4) (A) is false but (R) is true. 

135. How many of the given features are associated with 

mitochondria and chloroplasts?  

 Double membranous envelope, linear DNA, 70S 

ribosomes, RNA, Thylakoids, Cristae, 

Phosphorylation 

 (1) 3 (2) 5 

 (3) 4 (4) 2 

134. uhps nks dFku fn, x, gSaA ,d dks dFku (A) vkSj nwljs 

dks dkj.k (R)  ds :i esa yscy fd;k x;k gSA 

 dFku (A): ;wdsfj;ksV~l esa _.kkRed :i ls vkosf'kr 

fd, x, DNA dks U;wfDy;kslkse cukus ds fy, ?kukRed 

:i ls vkosf'kr fd, x, fgLVksu v"Vd ds pkjksa vksj 

yisVk tkrk gSA 

 dkj.k (R): çksdSfj;ksV~l esa ?kukRed :i ls vkosf'kr 

fd, x, DNA dks U;wfDy;‚bM uked {ks= esa dqN 

_.kkRed vkosf'kr fd, x, çksVhu ds lkFk j[kk tkrk 

gSA 

 mijksä dFkuksa ds vkyksd esa uhps fn, x, fodYiksa esa 

ls lgh mÙkj dk p;u dhft,A 

 (1) (A) vkSj (R)  nksuksa lR; gSa vkSj (R) ] (A) dh lgh 

O;k[;k gSA 

 (2) (A) vkSj (R) nksuksa lR; gSa ysfdu (R) (A) dk lgh 

Li"Vhdj.k ugha gSA 

 (3) (A) lR; gS ysfdu (R)  vlR; gSA 

 (4) (A) xyr gS ysfdu (R) lp gSA 

135. fn, x, y{k.kksa esa ls fdrus ekbVksd‚fUMª;k vkSj 

DyksjksIykLV ls lacaf/kr gSa\  

 f}f>Yyhnkj vkoj.k] jSf[kd DNA] 70S jkbckslkse] 

RNA] Fkk;ysdksbM~l] fØLVh] Q‚LQksjkbyhdj.k 

 

 (1) 3 (2) 5 

 (3) 4 (4) 2 

 

  



 

Space for rough work 

 

 

 

 

 

 

 

 

 

 

 

 

Narayana Jaipur HO: B.28, Gopalpura Bypass Road, 10.B Scheme, Near Ridhi Sidhi Circle, Jaipur, Rajasthan 302018 
(41) 

 

PART – IV : ZOOLOGY 
 

136. Select the correct difference between T-cells and B-

cells. 

 (1) B-cells produce memory cells that contribute to 

long-term immunity, whereas T-cells are 

incapable of forming memory cells. 

  

 (2) B-cells are primarily responsible for humoral 

immunity, whereas T-cells are primarily 

responsible for cell-mediated immunity. 

  

 (3) T-cells produce and release antibodies, whereas 

B-cells lack the ability to produce antibodies. 

 (4) B-cells are responsible for graft rejection, 

whereas T-cells are not involved in this process. 

137. In a forest ecosystem, a wildlife biologist monitored 

the deer population over several years. He observed 

that, even when the resources were abundant, the 

population never exceeded 120 deer in that area. 

What does this number represent? 

 (1) Intrinsic rate of natural increase 

 (2) Environmental resistance 

 (3) Natality rate 

 (4) Carrying capacity 

138. During the generation of an action potential, the 

depolarisation of the axonal membrane of a neuron 

is mainly caused by the 

 (1) potassium ions entering the axon 

 (2) potassium ions leaving the axon 

 (3) sodium ions entering the axon 

 (4) sodium ions leaving the axon 

 

 

 

139. Which of the following statements is correct 

regarding the type of connective tissue and its role in 

the human body? 

 

136. T&dksf'kdkvksa vkSj B&dksf'kdkvksa ds chp lgh varj 

dk p;u djsaA 

 (1) B&dksf'kdk,a Le`fr dksf'kdkvksa dk mRiknu djrh 

gSa tks nh?kZdkfyd çfrj{kk esa ;ksxnku djrh gSa] 

tcfd T&dksf'kdk,a Le`fr dksf'kdkvksa dks cukus esa 

vleFkZ gksrh gSaA 

 (2) B&dksf'kdk,a eq[; :i ls áeqjy çfrj{kk ds fy, 

ftEesnkj gksrh gSa] tcfd T&dksf'kdk,a eq[; :i 

ls dksf'kdk&e/;LFkrk çfrj{kk ds fy, ftEesnkj 

gksrh gSaA 

 (3) T&dksf'kdk,a ,aVhc‚Mh dk mRiknu vkSj fjyht 

djrh gSa] tcfd B&dksf'kdkvksa esa ,aVhc‚Mh dk 

mRiknu djus es vleFkZ gksrh gSA 

 (4) B&dksf'kdk,a xzk¶V vLoh—fr ds fy, ftEesnkj gSa] 

tcfd T&dksf'kdk,a bl çfØ;k esa 'kkfey ugha gSaA 

137- ,d ou ikfjfLFkfrdh ra= esa] ,d oU;tho thofoKkuh 

us dbZ o"kksaZ rd fgj.kksa dh vkcknh dh fuxjkuh dhA 

mUgksaus ns[kk fd] tc lalk/ku çpqj ek=k esa Fks] rc Hkh 

ml {ks= esa vkcknh 120 fgj.kksa ls vf/kd ugha FkhA ;g 

la[;k D;k n'kkZrh gS\ 

 (1) çk—frd o`f) dh vkarfjd nj 

 (2) i;kZoj.k çfrjks/k 

 (3) tUe nj 

 (4) ogu {kerk 

138- dk;kZRed foHko mRi™k gksus ds nkSjku] ,d U;wj‚u ds 

,Dlksuy f>Yyh dk fo/kzqo.k eq[;r% fdl dkj.k ls 

gksrk gS 

 (1) iksVsf'k;e vk;u v{krarq esa ços'k djus ls 

 (2) iksVsf'k;e vk;u v{krarq ls ckgj vkus ls 

 (3) lksfM;e vk;u v{krarq esa izos'k djus ls 

 (4) lksfM;e vk;u v{krarq ls ckgj vkus ls 
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 (1) Adipose tissue is the primary tissue that provides 

a structural framework to the body. 

 (2) Ligaments connect muscles to bones, 

transmitting muscle force to the bones. 

 (3) Areolar connective tissue often serves as a 

support framework for epithelium. 

 (4) Bones connected only with smooth muscles 

attached to them to bring about movements. 

140. What is the function of the Sertoli cells? 

 (1) They undergo mitotic division to produce 

spermatozoa. 

 (2) They produce testicular hormones called 

androgens. 

 (3) They nourish the developing male germ cells. 

 (4) They differentiate into spermatozoa during the 

process of spermiogenesis. 

141. Match List-I with List-II. 

 List-I  List-II 

A. Chromosome 1 I. 2968 genes 

B. Chromosome 11 II. 231 genes 

C. Chromosome X III. HBB gene 

D. Chromosome Y IV. Dystrophin gene 

 Choose the correct answer from the options given 

below. 

 (1) (A)-I, (B)-III, (C)-IV, (D)-II 

 (2) (A)-III, (B)-I, (C)-IV, (D)-II 

 (3) (A)-I, (B)-III, (C)-II, (D)-IV 

 (4) (A)-IV, (B)-II, (C)-III, (D)-I 

 

 

 

142. Read the following statements with one blank each 

(A-D). 

 I. The  A  represent the most significant number of 

species in the plant kingdom. 

139- la;ksth Ård ds çdkj vkSj ekuo 'kjhj esa bldh 

Hkwfedk ds ckjs esa fuEufyf[kr esa ls dkSu lk dFku 

lgh gS\ 

 (1) olk Ård çkFkfed Ård gS tks 'kjhj dks ,d 

lajpukRed <kapk çnku djrk gSA 

 (2) Luk;qca/ku isf'k;ksa dks vfLFk;ksa ls tksM+rs gSa] is'kh; 

cy dks vfLFk;ksa rd igqapkrs gSaA 

 (3) ok;oh; la;ksth Ård izk;% midyk ds fy, ,d 

voyEch <kaps ds :i esa dk;Z djrk gSA 

 (4) vfLFk;k¡ dsoy fpduh isf'k;ksa ds lkFk tqM+h gksrh 

gSa tks mudks xfr dh vkSj ys tkrk gSA 

140- lVksZyh dksf'kdkvksa dk dk;Z D;k gS\ 

 (1) os LiesZVkstksvk dk mRiknu djus ds fy, lelw=h 

foHkktu ls xqtjrs gSaA 

 (2) os ,.Mªkstu uked o`"k.k gkeksZu dk mRiknu djrs 

gSaA 

 (3) os fodkl'khy uj teZ dksf'kdkvksa dks iks"k.k nsrs 

gSaA 

 (4) os LifeZ;kstsusfll dh çfØ;k ds nkSjku 

LiesZVkstksvk esa foHksnu gks tkrs gSaA 

141- lwph&I dks lwph&II ds lkFk lqesfyr dhft,A 

 lwph&I  lwph&II 

A. xq.klw= 1 I. 2968 thu 

B. Øksekslkse 11 II. 231 thu 

C. Øksekslkse X III. HBB thu 

D. xq.klw= Y IV. fMLVªksfQu thu 

 uhps fn, x, fodYiksa esa ls lgh mÙkj dk p;u 

dhft,A 

 (1) (A)-I, (B)-III, (C)-IV, (D)-II 

 (2) (A)-III, (B)-I, (C)-IV, (D)-II 

 (3) (A)-I, (B)-III, (C)-II, (D)-IV 

 (4) (A)-IV, (B)-II, (C)-III, (D)-I 
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 II. Species diversity generally decreases as we 

move from the equator towards the   B  . 

 III. The extinction of a species due to the loss of 

another species with which it has an obligatory 

relationship is termed as  C  . 

 IV. The Amazon rainforest is called the "  D  of the 

planet" because it produces a significant portion 

of the Earth's oxygen. 

 Select the option that correctly identifies A, B, C, 

and D. 

 (A) (B) (C) (D) 

(1) angio- 

sperms 

poles coextinction lungs 

(2) gymno- 

sperms 

equator alien 

species 

invasion 

heart 

(3) bryo- 

phytes 

poles cryopreser-

vation 

kidneys 

(4) Pterido- 

phytes 

equator habitat 

fragmen-

tation 

reservoir 

143. Which of the following is an incorrect match? 

 (1) Annelida and Arthropoda - Metameric 

segmentation 

 (2) Cnidaria and Echinodermata - Radially 

symmetrical larva 

 (3) Echinodermata and Hemichordata - Open 

circulatory system 

 (4) Urochordata and Cephalochordata - Marine 

habitat 

 

 

144. Select the incorrect statement from the following. 

 (1) Calcium ions play a very important role in blood 

clotting. 

142- fuEufyf[kr dFkuksa dks ,d fjä LFkku ¼A&D½ ds lkFk 

if<+,A 

 I.   A   ikni txr esa çtkfr;ksa dh lcls egRoiw.kZ 

la[;k dk çfrfuf/kRo djrs gSaA 

 II. çtkfr;ksa dh fofo/krk lekU;r% de gks tkrh gS 

tc ge Hkwe/; js[kk ls  B   dh rjQ xfr djrs 

gSaA 

 III. fdlh vU; çtkfr ds foyqIr gksus ds dkj.k ,d 

vU; çtkfr dks uqdlku gksrk gS ;g ,d vfodYih  

laca/k gS] tks   C   dgykrk gSA 

 IV. vestkWu o"kkZou dks i`Foh dk ^^  D   ^^ dgk tkrk 

gSa D;ksafd ;g i`Foh ds v‚Dlhtu dk ,d egRoiw.kZ 

Hkkx mRiUu djrk gSA 

 ml fodYi dk p;u djsa tks A] B] C] vkSj D dh 

lgh igpku djrk gSA 

 (A) (B) (C) (D) 

(1) vko`rchth /kzqo lg&foyqIrrk QsQMs 

(2) vuko`rchth Hkwe/; 

js[kk 

fons'kh çtkfr;ksa 

dk vkØe.k 

ân; 

(3) czk;ksQkbV~l /kzqo Øk;kslaj{k.k o`Dd 

(4) VsfjMksQkbV~l Hkwe/; 

js[kk 

vkokl fo[kaMu laxzkgd 

 

 

 

143- fuEufyf[kr esa ls dkSu lk xyr feyku gS\ 

 (1) ,usfyMk vkSj vkFkzksZiksMk & esVkesfjd fo[k.Mu 

  

 (2) fuMsfj;k vkSj bdkbuksMesZVk & vjh; lefer ykokZ 

  

 (3) bdkbuksMesZVk vkSj gsfedksMsZVk & [kqyk ifjlpaj.k 

ra= 

 (4) ;wjksd‚MsZVk vkSj flQsyksdkWMsZVk & leqæh vkokl 
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 (2) Thrombin is not just an enzyme but an RNA 

made enzyme complex required for the 

conversion of fibrinogen to fibrin. 

 (3) A blood clot is formed of a network of fibrin 

threads in which dead and damaged formed 

elements are trapped. 

 (4) Certain factors released by the tissues at the site 

of injury can initiate coagulation. 

145. Which of the following statements are correct? 

 A. The cranial capacity of Java man is more than 

that of Homo habilis but less than that of 

Neanderthal man. 

  

 B. Homo sapiens was the first to practice the rituals 

of burying dead bodies. 

 C. The skull of a baby chimpanzee is more similar 

to an adult human skull than to an adult 

chimpanzee's skull. 

 D. Hominid evolution demonstrates a transition 

from a herbivorous diet to an omnivorous one, 

facilitated by the development of hunting and 

tool use. 

  

 Choose the correct answer from the options given 

below. 

 (1) A, B, C, and D only 

 (2) A, B and C only 

 (3) B, C, and D only 

 (4) A, C, and D only 

 

 

 

146. Given below are two statements. One is labelled 

Assertion (A) and the other is labelled Reason (R). 

 Assertion (A): In honeybees, drones do not have 

fathers. 

144- fuEufyf[kr esa ls xyr dFku dk p;u dhft,A 

 (1) dSfY'k;e vk;u jä ds FkDds teus esa cgqr 

egRoiw.kZ Hkwfedk fuHkkrs gSaA 

 (2) FkzksfEcu dsoy ,d ,atkbe ugha gS] cfYd ,d RNA 

ls cuk ,atkbe d‚EIysDl gS tks Qkbfczukstsu dks 

Qkbfczu esa cnyus ds fy, vko';d gSA 

 (3) ,d jä dk FkDdk Qkbfczu /kkxs ds ,d usVodZ 

ls curk gS ftlesa e`r vkSj {kfrxzLr laxfBr inkFkZ 

Qal tkrs gSaA 

 (4) pksV ds LFkku ij Årdksa }kjk eqDr dqN dkjd 

Ldanu 'kq: dj ldrs gSaA 

145- fuEufyf[kr esa ls dkSu lk dFku lgh gS\ 

 A. tkok ekuo dh diky {kerk gkseks gSfcfyl dh 

rqyuk esa vf/kd gS ysfdu fu,aMjFky vkneh dh 

rqyuk esa de gSA 

 B. gkseks lsfi;Ul 'koksa dks nQukus ds vuq"Bkuksa dks 

djus okys igys ekuo FksA 

 C. ,d f'k'kq fpaikath dh [kksiM+h ,d o;Ld fpaikath 

dh [kksiM+h dh rqyuk esa ,d o;Ld ekuo [kksiM+h 

ls vf/kd lekurk okyh gSA 

 D. gksfefuM fodkl ,d 'kkdkgkjh vkgkj ls ,d 

lokZgkjh vkgkj esa laØe.k dks çnf'kZr djrk gS] 

tks f'kdkj djus vkSj vkStkjksa ds iz;ksx }kjk lqxe 

gqvk gSA 

 uhps fn, x, fodYiksa esa ls lgh mÙkj dk p;u 

dhft,A 

 (1) dsoy A] B] C] vkSj D 

 (2) dsoy A] B vkSj C 

 (3) dsoy B] C vkSj D 

 (4) dsoy A] C vkSj D 
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 Reason (R): In honeybees, drones develop by 

parthenogenesis from unfertilised eggs. 

 In light of the above statements, choose the correct 

answer from the options given below. 

 (1) Both (A) and (R) are true and (R) is the correct 

explanation of (A). 

 (2) Both (A) and (R) are true but (R) is not the 

correct explanation of (A). 

 (3) (A) is true but (R) is false. 

 (4) Both (A) and (R) are false. 

147. In the test tube baby process, what is transferred into 

the uterus during intrauterine transfer (IUT) 

following in vitro fertilisation (IVF)? 

 (1) Ovum (2) Zygote 

 (3) Embryo (4) Secondary oocyte 

148. Which of the following is not a limitation of 

ecological pyramids? 

 (1) They do not consider organisms that belong to 

more than one trophic level. 

 (2) They do not represent saprophytes despite their 

crucial ecological role. 

 (3) They are based on food webs, which provide a 

more accurate representation of ecosystems. 

 (4) They assume isolated food chains, which are 

rarely found in natural ecosystems. 

149. According to the sliding filament theory, which of 

the following increases in length during muscle 

contraction? 

 (1) The zone that consists of only thick filaments 

 (2) The band that contains only thin filaments 

 (3) The length of the anisotropic band 

 (4) The zone where thick and thin filaments overlap 

150. Which organisms excrete ammonia as their principal 

nitrogenous waste product? 

 (1) Amphibian larvae and freshwater bony fish 

 (2) Adult amphibians and marine fish 

 (3) Marine birds and amphibian larvae 

146- uhps nks dFku fn, x, gSaA ,d dks dFku (A) vkSj 

nwljs dks dkj.k (R) ukek¡fdr fd;k x;k gSA 

 dFku (A)% e/kqefD[k;ksa esa] Mªksu ds firk ugha gksrs gSaA 

 dkj.k (R)% e/kqefD[k;ksa esa] Mªksu vfu"ksfpr vaMs ls 

vfu"ksdtuu }kjk fodflr gksrs gSaA 

 mijksä dFkuksa ds vkyksd esa] uhps fn, x, fodYiksa esa 

ls lgh mÙkj dk p;u dhft,A 

 (1) (A) vkSj (R) nksuksa lR; gSa vkSj (R)] (A) dh lgh 

O;k[;k gSA 

 (2) (A) vkSj (R) nksuksa lR; gSa ysfdu (R)] (A) dk 

lgh Li"Vhdj.k ugha gSA 

 (3) (A) lR; gS ysfdu (R) vlR; gSA 

 (4) (A) vkSj (R) nksuksa vlR; gSaA 

 

147- VsLV Vîwc csch çfØ;k esa] bu foVªks fu"kspu (IVF) ds 

ckn varxZHkkZ'k;h LFkkukarj.k (IUT) ds nkSjku xHkkZ'k; 

esa D;k LFkkukarfjr fd;k tkrk gS\ 

 (1) vaMk.kq (2) tkbxksV 

 (3) Hkzw.k (4) f}rh;d ÅlkbV 

148- fuEufyf[kr esa ls dkSu ikfjfLFkfrd fijkfeM dh lhek 

ugha gS\ 

 (1) os mu thoksa ij fopkj ugha djrs gSa tks ,d ls 

vf/kd iks"kd Lrj ls lacaf/kr gSaA 

 (2) os viuh egRoiw.kZ ikfjfLFkfrd Hkwfedk ds ckotwn 

e`rksithoh dk çfrfuf/kRo ugha djrs gSaA 

 (3) os [kk| tky ij vk/kkfjr gSa] tks ikfjfLFkfrd ra= 

dk vf/kd lVhd çfrfuf/kRo çnku djrs gSaA 

 (4) os ,dy [kk| J`a[kykvksa dks ekurs gSa] tks 'kk;n 

gh dHkh çk—frd ikfjfLFkfrd ra= esa ik, tkrs gSaA 

149- foliZ.k rarq fl)kar ds vuqlkj] isf'k;ksa ds ladqpu ds 

nkSjku fuEufyf[kr esa ls fdldh yackbZ c<+ tkrh gS\ 

 (1) og {ks= ftlesa dsoy eksVs rarq gksrs gSa 

 (2) cSaM ftlesa dsoy irys rarq gksrs gSa 

 (3) vuvkblksVªksfid cSaM dh yackbZ 

 (4) og {ks= tgk¡ eksVs vkSj irys rarq vfrO;kfir gksrs 

gSa 
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 (4) Freshwater fish and adult amphibians 

151. Which of the following correctly matches each 

disease with its respective causative agent? 

  Dengue Diphtheria Ringworm 

 (1) Virus Bacterium Fungus 

 (2) Mosquito Protozoan  Helminth 

 (3) Helminth  Bacterium  Protozoan 

 (4) Bacteria  Virus    Fungus 

152. Match List-I with List-II. 

 List-I  List-II 

A. Collar cells  I. Alligator 

B. Flame cells  II. Sycon 

C. Claspers  III. Fasciola 

D. Scutes  IV. Pristis 

 Choose the correct answer from the options given 

below. 

 (1) (A)-IV, (B)-I, (C)-II, (D)-III 

 (2) (A)-II, (B)-III, (C)-IV, (D)-I 

 (3) (A)-III, (B)-II, (C)-IV, (D)-I 

 (4) (A)-II, (B)-III, (C)-I, (D)-IV 

153. Which of the following are not considered ancestors 

of mammals? 

 (1) Sauropsids (2) Therapsids 

 (3) Pelycosaurs (4) Synapsids 

 

 

 

154. Given below are two statements. 

 Statement I: Gene therapy aims to treat hereditary 

diseases by inserting functional genes into a patient's 

cells. 

150- dkSu ls tho veksfu;k dks vius çeq[k ukbVªkstu 

vif'k"V mRikn ds :i esa mRlftZr djrs gSa\ 

 (1) mHk;pj ykokZ vkSj LoPN tyh; vfLFky eNyh 

 (2) o;Ld mHk;pj vkSj leqæh eNyh 

 (3) leqæh i{kh vkSj mHk;pj ykokZ 

 (4) ehBs ikuh dh eNyh vkSj o;Ld mHk;pj 

151- fuEufyf[kr esa ls dkSu lk fodYi çR;sd jksx dk 

mlds lacaf/kr dkjd ds lkFk lgh feyku djrk gS\ 

   Msaxw fMIFkhfj;k  nkn 

 (1) ok;jl thok.kq   QQwan 

 (2) ePNj çksVkstksvk  gsfYeUFkht+ 

 (3) gsfYeUFkht+  thok.kq    çksVkstksvk 

 (4) thok.kq  ok;jl    QQwan 

152- lwph&I dks lwph&II ds lkFk lqesfyr dhft,A 

 lwph&I  lwph&II 

A. d‚yj 

dksf'kdk 

I. ?kfM+;ky 

B. Tokyk 

dksf'kdk,a 

II. lkbd‚u 

C. DySLilZ III. Qsf'k;ksyk 

D. LD;wVl IV. fçfLVl 

 uhps fn, x, fodYiksa esa ls lgh mÙkj dk p;u 

dhft,A 

 (1) (A)-IV, (B)-I, (C)-II, (D)-III 

 (2) (A)-II, (B)-III, (C)-IV, (D)-I 

 (3) (A)-III, (B)-II, (C)-IV, (D)-I 

 (4) (A)-II, (B)-III, (C)-I, (D)-IV 

153- fuEufyf[kr esa ls fdls Lru/kkfj;ksa dk iwoZt ugha ekuk 

tkrk gS\ 

 (1) lkSjksfIlM~l (2) FksjkfIlM~l 

 (3) isyhdksl‚j (4) fluSfIlM~l 
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 Statement II: In the first clinical gene therapy, a 

functional ADA gene was directly inserted into the 

lymphocytes inside the patient's body using a gene 

gun. 

 In light of the above statements, choose the correct 

answer from the options given below. 

 (1) Both statement I and statement II are correct. 

 (2) Both statement I and statement II are incorrect. 

 (3) Statement I is correct but statement II is 

incorrect. 

 (4) Statement I is incorrect but statement II is 

correct. 

155. Which of the following statements regarding 

cockroaches are correct? 

 A. A ring of 6-8 blind tubules called hepatic caeca 

is present at the junction of the midgut and the 

hindgut. 

 B. The respiratory system consists of a network of 

tracheae that open through ten pairs of spiracles. 

 C. The haemolymph is colourless because it lacks 

haemocytes. 

 D. Malpighian tubules absorb nitrogenous waste 

products and convert them into uric acid, which 

is excreted out through the hindgut. 

 E. The brain is represented by supraoesophageal 

ganglia, which supply nerves to the antennae 

and compound eyes. 

 Select the most appropriate answer from the options 

given below. 

 (1) A and C only 

 (2) B, D and E only 

 (3) A, C and E only 

 (4) B, C, D and E only 

 

156. The following are some hormonal and physiological 

events in the menstrual cycle. 

 A. Secretion of progesterone 

154- uhps nks dFku fn, x, gSaA 

 dFku I% thu Fksjsih dk mís'; jksxh dh dksf'kdkvksa esa 

dk;kZRed thu Mkydj oa'kkuqxr chekfj;ksa dk bykt 

djuk gSA 

 dFku II% izFke fpfdRlh; thu Fksjsih esa] ,d dk;kZRed 

ADA thu dks lh/ks thu xu dk mi;ksx djds jksxh 

ds 'kjhj ds vanj fyEQkslkbVksa esa Mkyk x;k FkkA 

  

 mijksä dFkuksa ds lnaHkZ esa] uhps fn, x, fodYiksa esa 

ls lgh mÙkj dk p;u dhft,A  

 (1) dFku I vkSj dFku II nksuksa lgh gSaA 

 (2) dFku I vkSj dFku II nksuksa xyr gSaA 

 (3) dFku I lgh gS ysfdu dFku II xyr gSA 

  

 (4) dFku I xyr gS ysfdu dFku II lgh gSA 

 

155- frypês ds ckjs esa fuEufyf[kr esa ls dkSu lk dFku 

lgh gS\ 

 A. 6&8 va/k ufydkvksa dh ,d oy; ftls fgisVhd 

lhdk dgk tkrk gS] e/;ka= vkSj i'pka= ds taD'ku 

ij ekStwn gksrh gSA 

 B. 'olu ç.kkyh esa 'okluyh dk ,d usVodZ gksrk 

gS tks nl tksM+s LikbjSdy ds ek/;e ls [kqyrk 

gSA 

 C. gheksfyEQ jaxghu gksrk gS D;ksafd blesa 

ghekslkbV~l dk vHkko gSA 

 D. eSYihf?k;u ufydk,a ukbVªkstu ;qä vif'k"V 

mRiknksa dks vo'kksf"kr djrh gSa vkSj mUgsa ;wfjd 

,flM esa ifjofrZr djrh gSa] tks i'pka= ds ek/;e 

ls mRlftZr gksrh gSA 

 E. efLr"d dks lqizkblksQsxy xSfUXy;k }kjk n'kkZ;k 

tkrk gS] tks ,aVhuk vkSj l;qaDr us=ksa dks raf=dkvksa 

dh vkiwfrZ djrk gSA 

 uhps fn, x, fodYiksa esa ls lcls mi;qä mÙkj dk 

p;u dhft,A 

 (1) dsoy A vkSj C 

 (2) dsoy B] D vkSj E 

 (3) dsoy A] C vkSj E 

 (4) dsoy B] C] D vkSj E 
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 B. Formation of corpus luteum 

 C. GnRH release 

 D. LH surge 

 E. Ovulation 

 F. Maintenance of endometrium 

 Which of the following represents the correct 

sequence of the above events? 

 (1) D C E A B F→ → → → →   

 (2) C D E B A F→ → → → →   

 (3) E D B A C F→ → → → →   

 (4) C A E D B F→ → → → →   

157. Given below are two statements. 

 Statement I: Both Turner's syndrome and 

Klinefelter's syndrome are due to aneuploidy 

resulting from the non-disjunction of sex 

chromosomes. 

 Statement II: Both thalassemia and sickle cell 

anaemia are caused by defects only in the  -globin 

chain of haemoglobin. 

 In light of the above statements, choose the correct 

answer from the options given below. 

 (1) Both statement I and statement II are correct. 

 (2) Both statement I and statement II are incorrect. 

 (3) Statement I is correct but statement II is 

incorrect. 

 (4) Statement I is incorrect but statement II is 

correct. 

 

 

 

 

 

 

158. Given below are two statements. One is labelled 

Assertion (A) and the other is labelled Reason (R). 

156- ekfld /keZ pØ esa dqN gkeksZuy vkSj 'kkjhfjd ?kVuk,a 

fuEufyf[kr gSaA 

 A. çkstsLVsjksu dk lzko 

 B. d‚iZl Y;wfV;e dk fuekZ.k 

 C. GnRH dk lzko.k 

 D. LH ltZ 

 E. v.MksRlxZ 

 F. ,aMksesfVª;e dk j[kj[kko 

 fuEufyf[kr esa ls dkSu mijksä ?kVukvksa ds lgh 

vuqØe dks n'kkZrk gS\ 

 (1) D C E A B F→ → → → →   

 (2) C D E B A F→ → → → →   

 (3) E D B A C F→ → → → →   

 (4) C A E D B F→ → → → →  

157- uhps nks dFku fn, x, gSaA 

 dFku I% VuZj flaMªkse vkSj DykbuQsYVj flaMªkse nksuksa 

fyax xq.klw=ksa ds ukWu&fMLtad'ku ds ifj.kkeLo:i 

vlwxqf.krk ds dkj.k gksrs gSaA 

  

 dFku II% FkSyslhfe;k vkSj fldy lsy ,uhfe;k nksuksa 

dsoy gheksXyksfcu dh  &Xyksfcu J`a[kyk esa nks"k ds 

dkj.k gksrs gSaA 

 mijksä dFkuksa ds vkyksd esa uhps fn, x, fodYiksa esa 

ls lgh mÙkj dk p;u dhft,A 

 (1) dFku I vkSj dFku II nksuksa lgh gSaA 

 (2) dFku I vkSj dFku II nksuksa xyr gSaA 

 (3) dFku I lgh gS ysfdu dFku II xyr gSA 

  

 (4) dFku I xyr gS ysfdu dFku II lgh gSA  
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 Assertion (A): Energy flow in an ecosystem is 

unidirectional. 

 Reason (R): When energy flows from a particular 

trophic level to the next trophic level, same amount 

energy is always loss as heat at each step. 

 In light of the above statements, choose the correct 

answer from the options given below. 

 (1) Both (A) and (R) are true and (R) is the correct 

explanation of (A). 

 (2) Both (A) and (R) are true but (R) is not the 

correct explanation of (A). 

 (3) (A) is true but (R) is false. 

 (4) Both (A) and (R) are false. 

159. Match List-I with List-II. 

 List-I  List-II 

A. Larynx I. Soundbox 

B. Diaphragm II. Chemoreceptors 

C. Alveoli III. Sites of gas exchange 

D. Carotid bodies IV. Inspiratory muscle 

 Choose the correct answer from the options given 

below. 

 (1) (A)-I, (B)-IV, (C)-III, (D)-II 

 (2) (A)-II, (B)-III, (C)-I, (D)-IV 

 (3) (A)-IV, (B)-I, (C)-II, (D)-III 

 (4) (A)-IV, (B)-I, (C)-III, (D)-II 

 

 

 

 

 

 

 

160. Given below are two statements. 

158- uhps nks dFku fn, x, gSaA ,d dks dFku (A) vkSj 

nwljs dks dkj.k (R) ukek¡fdr fd;k x;k gSA 

 dFku (A)% ,d ikfjfLFkfrdh ra= esa ÅtkZ çokg 

,dfnf'k; gSA 

 dkj.k (R)% tc ÅtkZ ,d fo'ks"k iks"kh Lrj ls vxys 

iks"kh Lrj rd çokfgr gksrh gS] rks çR;sd pj.k esa 

leku ek=k esa ÅtkZ ges'kk Å"ek ds :i esa [kpZ gks 

tkrh gSA 

 mijksä dFkuksa ds vkyksd esa uhps fn, x, fodYiksa esa 

ls lgh mÙkj dk p;u dhft,A 

 (1) (A) vkSj (R) nksuksa lR; gSa vkSj (R)] (A) dh lgh 

O;k[;k gSA 

 (2) (A) vkSj (R) nksuksa lR; gSa ysfdu (R)] (A) dk 

lgh Li"Vhdj.k ugha gSA 

 (3) (A) lR; gS ysfdu (R) vlR; gSA 

 (4) (A) vkSj (R) nksuksa vlR; gSaA 

159- lwph&I dks lwph&II ds lkFk lqesfyr dhft,A 

 lwph&I  lwph&II 

A. daB@ySfjaXl I. Loj isfBdk 

B. Mk;kÝke II. jlk;u xzkgh 

C. dwfidk;sa III. xSl fofue; LFky 

D. dSjksfVM dk; IV. var%'oluh 

 uhps fn, x, fodYiksa esa ls lgh mÙkj dk p;u 

dhft,A 

 (1) (A)-I, (B)-IV, (C)-III, (D)-II 

 (2) (A)-II, (B)-III, (C)-I, (D)-IV 

 (3) (A)-IV, (B)-I, (C)-II, (D)-III 

 (4) (A)-IV, (B)-I, (C)-III, (D)-II 
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 Statement I: Mutualism is an interaction in which 

both interacting species derive benefits. 

 Statement II: Competition is a type of interaction in 

which both species can be adversely affected. 

 In light of the above statements, choose the correct 

answer from the options given below. 

 (1) Both statement I and statement II are correct. 

 (2) Both statement I and statement II are incorrect. 

 (3) Statement I is correct but statement II is 

incorrect. 

 (4) Statement I is incorrect but statement II is 

correct. 

161. Medical Termination of Pregnancy (MTP) is 

considered relatively safe during 

 (1) the second trimester, i.e., after 20 weeks of 

pregnancy 

 (2) the first trimester, i.e., up to 12 weeks of 

pregnancy 

 (3) the third trimester, i.e., after 28 weeks of 

pregnancy 

 (4) any time during pregnancy, before parturition 

162. Which of the following structures are present in 

female frogs? 

 A. Oviducts 

 B. Vocal sacs 

 C. Fat bodies 

 D. 10 pair cranial nerves 

 E. Cloaca 

 Select the most appropriate answer from the options 

given below. 

 (1) A, B, and C only 

 (2) B and E only 

 (3) A, C, and E only 

 (4) A, C, D and E only 

 

 

163. Match List-I with List-II. 

160- uhps nks dFku fn, x, gSaA 

 dFku I% ikjLifjdrk ,d varfØZ;k gS ftlesa nksuksa 

var%fØ;kRed çtkfr;ka ykHk çkIr djrh gSaA 

 dFku II% Li/kkZ ,d çdkj dh varfØZ;k gS ftlesa nksuksa 

çtkfr;ka çfrdwy :i ls çHkkfor gks ldrh gSaA 

 mijksä dFkuksa ds vkyksd esa uhps fn, x, fodYiksa esa 

ls lgh mÙkj dk p;u dhft,A 

 (1) dFku I vkSj dFku II nksuksa lgh gSaA 

 (2) dFku I vkSj dFku II nksuksa xyr gSaA 

 (3) dFku I lgh gS ysfdu dFku II xyr gSA 

  

 (4) dFku I xyr gS ysfdu dFku II lgh gSA 

 

161- xHkkZoLFkk dh fpfdRlk lekfIr (MTP) dks vis{kk—r 

lqjf{kr ekuk tkrk gS 

 (1) nwljh frekgh] ;kuh] xHkkZoLFkk ds 20 lIrkg ds 

ckn 

 (2) igyh frekgh] ;kuh] xHkkZoLFkk ds 12 lIrkg rd 

 (3) rhljh frekgh] ;kuh xHkkZoLFkk ds 28 lIrkg ds 

ckn 

 (4) xHkkZoLFkk ds nkSjku fdlh Hkh le;] çlo ls igys 

 

162- eknk esa<dksa esa fuEufyf[kr esa ls dkSu lh lajpuk 

ekStwn gksrh gS\ 

 A. fMacokfguh 

 B. Loj dks'k 

 C. olk dk; 

 D. 10 tksM+h Øsfu;y raf=dk;sa 

 E. Dyks,dk 

 uhps fn, x, fodYiksa esa ls lcls mi;qä mÙkj dk 

p;u dhft,A 

 (1) dsoy A] B vkSj C 

 (2) dsoy B vkSj E 

 (3) dsoy A] C vkSj E 

 (4) dsoy A] C] D vkSj E 
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 List-I  List-II 

A. Longest bone I. Stapes 

B. Smallest bone II. Clavicle 

C. Coxal bone III. Pelvic girdle 

D. Collar bone IV. Femur 

 Choose the correct answer from the options given 

below. 

 (1) (A)-I, (B)-IV, (C)-III, (D)-II 

 (2) (A)-II, (B)-III, (C)-I, (D)-IV 

 (3) (A)-IV, (B)-I, (C)-II, (D)-III 

 (4) (A)-IV, (B)-I, (C)-III, (D)-II 

164. On an average   '(X)'   of urea is excreated by human 

per day. Here 'X' is - 

 (1) 25 gram (2) 25 mg 

 (3) 50 gram (4) 10 mg 

165. Match List-I with List-II. 

 List-I  List-II 

A. Lichens I. Amensalism 

B. Cattle egret on cattle II. Commensalism 

C. Tiger and deer III. Predation 

D. Penicillium secreting 

an antibiotic that 

kills bacteria 

IV. Mutualism 

 Choose the correct answer from the options given 

below. 

 (1) (A)-I, (B)-IV, (C)-II, (D)-III 

 (2) (A)-III, (B)-II, (C)-IV, (D)-I 

 (3) (A)-IV, (B)-II, (C)-III, (D)-I 

 (4) (A)-IV, (B)-I, (C)-III, (D)-II 

166. Arrange the following lung volumes or capacities in 

ascending order based on their volume (in mL of 

air): 

163- lwph&I dks lwph&II ds lkFk lqesfyr dhft,A 

 lwph&I  lwph&II 

A. lcls yach vfLFk I. LVsiht 

B. lcls NksVh vfLFk II. Dysfody 

C. d‚Dly vfLFk III. Jksf.k es[kyk 

D. d‚yj vfLFk IV. Qhej 

 uhps fn, x, fodYiksa esa ls lgh mÙkj dk p;u 

dhft,A 

 (1) (A)-I, (B)-IV, (C)-III, (D)-II 

 (2) (A)-II, (B)-III, (C)-I, (D)-IV 

 (3) (A)-IV, (B)-I, (C)-II, (D)-III 

 (4) (A)-IV, (B)-I, (C)-III, (D)-II 

164- vkSlru   '(X)'   ek=k esa ;wfj;k izfrfnu ekuo mRlftZr 

djrk gSA ;gk¡ 'X' gSa& 

 (1) 25 xzke (2) 25 feyhxzke 

 (3) 50 xzke (4) 10 feyhxzke 

165- lwph&I dks lwph&II ds lkFk lqesfyr dhft,A 

 lwph&I  lwph&II 

A. ykbdsu I. ,esUlsfyTe 

B. eos'kh cxqyk eos'kh ij II. desUlsfyTe 

C. ck?k vkSj fgj.k III. ijHk{k.k 

D. isfuflfy;e ,d 

,aVhck;ksfVd lzkfor djrk 

gS tks cSDVhfj;k dks ekjrk 

gS  

IV. ikjLifjdrk 

 uhps fn, x, fodYiksa esa ls lgh mÙkj dk p;u 

dhft,A 

 (1) (A)-I, (B)-IV, (C)-II, (D)-III 

 (2) (A)-III, (B)-II, (C)-IV, (D)-I 

 (3) (A)-IV, (B)-II, (C)-III, (D)-I 

 (4) (A)-IV, (B)-I, (C)-III, (D)-II 
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 A. Residual Volume (RV) 

 B. Expiratory Reserve Volume (ERV) 

 C. Tidal Volume (TV) 

 D. Vital Capacity (VC) 

 E. Functional Residual Capacity (FRC) 

 Select the correct answer from the options given 

below. 

 (1) B < C < A < E < D 

 (2) C < B < A < E < D 

 (3) C < B < A < D < E 

 (4) A < B < C < D < E 

167. Diuresis is prevented by 

 (1) ADH released from pars nervosa 

 (2) MSH released from pars intermedia 

 (3) FSH released from pars distalis 

 (4) ANF released from the heart 

168. Match List-I with List-II. 

 List-I  List-II 

A. GnRH I. Fight or flight 

hormone 

B. Thyrocalcitonin II. Releasing hormone 

C. Epinephrine III. Hypocalcemic 

hormone 

D. Insulin IV. Hypoglycemic 

hormone 

 (1) (A)-I, (B)-IV, (C)-II, (D)-III 

 (2) (A)-II, (B)-III, (C)-I, (D)-IV 

 (3) (A)-III, (B)-I, (C)-IV, (D)-II 

 (4) (A)-IV, (B)-II, (C)-III, (D)-I 

 

 

 

169. Match List-I with List-II. 

 List-I  List-II 

166- fuEufyf[kr QsQM+ksa dh ek=k ;k {kerkvksa dks mudh 

ek=k ¼gok ds mL esa½ ds vk/kkj ij vkjksgh Øe esa 

O;ofLFkr djsa% 

 A. vo'ks"kh vk;ru (RV) 

 B. fu%'oluh vkj{kh vk;ru (ERV) 

 C. Tokjh; vk;ru (TV) 

 D. tSfod {kerk (VC) 

 E. dk;kZRed vo'ks"kh {kerk (FRC) 

 uhps fn, x, fodYiksa esa ls lgh mÙkj dk p;u 

dhft,A 

 (1) B < C < A < E < D 

 (2) C < B < A < E < D 

 (3) C < B < A < D < E 

 (4) A < B < C < D < E 

167- ew=yrk dks fdlds }kjk jksdk tkrk gS 

 (1) iklZ uoksZlk ls fudyus okys ADH ls 

 (2) MSH tks fd iklZ baVjehfM;k fudyrk gSA 

 (3) FSH tks fd iklZ fMLVfyl fudyrk gSA 

 (4) ân; ls fudyus okys ANF ls 

168- lwph&I dks lwph&II ds lkFk lqesfyr dhft,A 

 lwph&I  lwph&II 

A. GnRH I. yM+ks ;k Hkkxks gkeksZu 

B. Fkk;jksdSYlhVksfuu II. ekspd gkeksZu 

C. ,fiusÝhu III. gkbiksdSYlsfed 

gkeksZu 

D. balqfyu IV. gkbiksXykblsfed 

gkeksZu 

 (1) (A)-I, (B)-IV, (C)-II, (D)-III 

 (2) (A)-II, (B)-III, (C)-I, (D)-IV 

 (3) (A)-III, (B)-I, (C)-IV, (D)-II 

 (4) (A)-IV, (B)-II, (C)-III, (D)-I 
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A. Amoebiasis I. Widal test 

B. Typhoid II. Biopsy 

C. AIDS III. Stool test 

D. Cancer IV. ELISA 

 (1) (A)-I, (B)-III, (C)-IV, (D)-II 

 (2) (A)-III, (B)-I, (C)-IV, (D)-II 

 (3) (A)-III, (B)-II, (C)-I, (D)-IV 

 (4) (A)-IV, (B)-III, (C)-II, (D)-I 

170. Which of the following are characteristics of 

spermatogenesis? 

 A. All four daughter cells formed after meiosis II 

develop into functional gametes. 

 B. Meiosis produces only one functional gamete 

and two or three polar bodies. 

 C. Sperm formation continues even in old age in 

males. 

 D. It is initiated during the embryonic development 

stage. 

 Select the most appropriate answer from the options 

given below. 

 (1) A and C only (2) B and D only 

 (3) A and D only (4) B and C only 

 

 

 

 

 

 

 

 

 

 

171. Consider the following scenarios. 

169- lwph&I dks lwph&II ds lkFk lqesfyr dhft,A 

 lwph&I  lwph&II 

A. vehfc;kfll I. foMky ijh{k.k 

B. VkbQkbM T oj II. ck;ksIlh 

C. AIDS III. ey ijh{k.k 

D. dSalj IV. ELISA 

 (1) (A)-I, (B)-III, (C)-IV, (D)-II 

 (2) (A)-III, (B)-I, (C)-IV, (D)-II 

 (3) (A)-III, (B)-II, (C)-I, (D)-IV 

 (4) (A)-IV, (B)-III, (C)-II, (D)-I 

170- fuEufyf[kr esa ls dkSu 'kqØtuu dh fo'ks"krk,a gSa\ 

 A. v/kZlw=hfoHkktu II ds ckn fufeZr lHkh pkj iq=h 

dksf'kdk,a dk;kZRed ;qXedksa esa fodflr gksrh gSaA 

 B. v/kZlw=hfoHkktu dsoy ,d dk;kZRed ;qXed vkSj 

nks ;k rhu /kzqoh; fudk;ksa dk mRiknu djrk gSA 

 C. iq#"kksa esa cq<+kis esa Hkh 'kqØk.kq dk fuekZ.k tkjh jgrk 

gSA 

 D. ;g Hkzw.k fodkl voLFkk ds nkSjku vkjaHk gSA 

 uhps fn, x, fodYiksa esa ls lcls mi;qä mÙkj dk 

p;u dhft,A 

 (1) dsoy A vkSj C (2) dsoy B vkSj D 

 (3) dsoy A vkSj D (4) dsoy B vkSj C 
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 Scenario A: Over several generations, a population 

of rabbits becomes faster, as individuals with higher 

running speeds are more successful in evading 

predators. So selected by nature. 

 Scenario B: In a population of birds, eggs of 

intermediate size have the highest survival rate 

compared to smaller or larger eggs. 

 Select the option that correctly identifies the pattern 

of natural selection underway in Scenario A and 

Scenario B. 

 (1) A - disruptive, B - stabilising 

 (2) A - stabilising, B - directional 

 (3) A - directional, B - disruptive 

 (4) A - directional, B - stabilising 

172. Which of the following is not a recessive Mendelian 

disorder? 

 (1) Phenylketonuria 

 (2) Haemophilia 

 (3) Cystic fibrosis 

 (4) Myotonic dystrophy 

173. Match List-I with List-II. 

 List-I  List-II 

A. Flying fish I. Pteropus 

B. Flying fox II. Columba 

C. Flying bird III. Ostrich 

D. Flightless bird IV. Exocoetus 

 (1) (A)-I, (B)-IV, (C)-II, (D)-III 

 (2) (A)-II, (B)-III, (C)-IV, (D)-I 

 (3) (A)-IV, (B)-I, (C)-II, (D)-III 

 (4) (A)-IV, (B)-I, (C)-III, (D)-II 

 

 

 

 

171- fuEufyf[kr ifj–';ksa ij fopkj djsaA 

 ifj–'; A% dbZ ihf<+;ksa esa] rsth ls pyus okys [kjxks'kksa 

dh vkcknh c<+ tkrh gS] D;ksafd mPp xfr okys [kjxks'k 

f'kdkfj;ksa ls cpus esa vf/kd lQy gksrs gSaA vr% budk 

izkÑfrd ;pu gqvkA 

 ifj–'; B% if{k;ksa dh vkcknh esa] e/;orhZ vkdkj ds 

vaMksa dk NksVs ;k cM+s vaMksa dh rqyuk esa thfor jgus 

dh nj lcls vf/kd gksrh gSA 

 ml fodYi dk p;u djsa tks ifj–'; A vkSj       

ifj–'; B esa py jgs çk—frd p;u ds iSVuZ dks lgh 

<ax ls igpkurk gSA 

 (1) A&fo?kVudkjh] B&fLFkj djuk 

 (2) A&fLFkjhdj.k] B&fn'kkRed 

 (3) A&fn'kkRed] B&fo?kVudkjh 

 (4) A&fn'kkRed] B&fLFkj djuk 

172- fuEufyf[kr esa ls dkSu lk ,d vizHkkoh esaMsfy;u 

fodkj ugha gS\ 

 (1) QsfuydsVksuqfj;k 

 (2) gheksfQfyvk 

 (3) iqVh; rarqe;rk 

 (4) ek;ksVksfud fMLVªksQh 

173- lwph&I dks lwph&II ds lkFk lqesfyr dhft,A 

 lwph&I  lwph&II 

A. ¶ykbZax fQl I. Vsjksil 

B. ¶ykbZax QkWDl II. dksyack 

C. mM+us okyk i{kh III. 'kqrqjeqxZ 

D. mM+ku jfgr i{kh IV. ,Dlkslh,Vl 

 (1) (A)-I, (B)-IV, (C)-II, (D)-III 

 (2) (A)-II, (B)-III, (C)-IV, (D)-I 

 (3) (A)-IV, (B)-I, (C)-II, (D)-III 

 (4) (A)-IV, (B)-I, (C)-III, (D)-II 
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174. Given below are two statements. One is labelled 

Assertion (A) and the other is labelled Reason (R). 

 Assertion (A): Vasectomy and tubectomy are 

generally advised as the terminal methods of 

contraception. 

 Reason (R): These techniques are highly effective, 

but their reversibility is very high. 

 In light of the above statements, choose the correct 

answer from the options given below. 

 (1) Both (A) and (R) are true and (R) is the correct 

explanation of (A). 

 (2) Both (A) and (R) are true but (R) is not the 

correct explanation of (A). 

 (3) (A) is true but (R) is false. 

 (4) Both (A) and (R) are false. 

175. Identify the incorrect statements from the following. 

 A. Oxytocin, secreted by the anterior pituitary, 

stimulates milk production. 

 B. Glucagon, secreted by the pancreas, stimulates 

glycogenolysis in the liver. 

 C. Cortisol, produced by the adrenal medulla, 

stimulates RBC production. 

 D. Cholecystokinin produced by the intestine 

stimulates the contraction of the gallbladder. 

 E. PTH secreted by the parathyroid glands 

stimulates bone resorption. 

 Choose the most appropriate answer from the 

options given below. 

 (1) A and B only (2) D and E only 

 (3) B and D only (4) A and C only 

 

 

 

 

 

 

174- uhps nks dFku fn, x, gSaA ,d dks dFku (A) vkSj 

nwljs dks dkj.k (R) ukek¡fdr fd;k x;k gSA 

 dFku (A)% 'kqØokfgdksPNsnu vkSj efgyk ulcanh dks 

dh lykg vkerkSj ij xHkZfujks/kd ds VfeZuy rjhdksa 

ds :i esa nh tkrh gSA 

 dkj.k (R)% ;s rduhdsa vR;f/kd çHkkoh gSa] ysfdu 

mudh mRØe.kh;rk cgqr vf/kd gksrh gSA 

 mijksä dFkuksa ds vkyksd esa] uhps fn, x, fodYiksa esa 

ls lgh mÙkj dk p;u dhft,A 

 (1) (A) vkSj (R) nksuksa lR; gSa vkSj (R)] (A) dh lgh 

O;k[;k gSA 

 (2) (A) vkSj (R) nksuksa lR; gSa ysfdu (R)] (A) dk 

lgh Li"Vhdj.k ugha gSA 

 (3) (A) lR; gS ysfdu (R) vlR; gSA 

 (4) (A) vkSj (R) nksuksa vlR; gSaA 

175- fuEufyf[kr esa ls xyr dFkuksa dh igpku dhft,A 

 A. v‚DlhVksflu] vxz fiVîwVjh }kjk lzkfor] nw/k 

mRiknu dks mÙksftr djrk gSA 

 B. vXU;k'k; }kjk lzkfor] XywdkxkWu ;—r esa 

Xykbdkstsuksfyfll dks mÙksftr djrk gSA 

 C. vf/ko`Dd eTtk }kjk mRikfnr dksfVZlksy] RBC 

mRiknu dks mÙksftr djrk gSA 

 D. vkar }kjk mRikfnr dksyslhLVksfdfuu fiÙkk'k; dh 

FkSyh ds ladqpu dks mÙksftr djrk gSA 

 E. iSjkFkk;jk;M xzafFk;ksa }kjk lzkfor PTH gìh ds 

iqu'kksZ"k.k dks mÙksftr djrk gSA 

 uhps fn, x, fodYiksa esa ls lcls mi;qä mÙkj dk 

p;u dhft,A 

 (1) dsoy A vkSj B (2) dsoy D vkSj E 

 (3) dsoy B vkSj D (4) dsoy A vkSj C 
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176. Match List-I with List-II. 

 List-I  List-II 

A. Spongilla I. External fertilisation 

and direct develop-

ment 

B. Pleurobrachia II. External fertilisation 

and indirect develop-

ment 

C. Hippocampus III. Internal fertilisation 

and direct develop-

ment 

D. Calotes IV. Internal fertilisation 

and indirect develop-

ment 

 Choose the correct answer from the options given 

below. 

 (1) (A)-III, (B)-I, (C)-IV, (D)-II 

 (2) (A)-IV, (B)-II, (C)-III, (D)-I 

 (3) (A)-II, (B)-IV, (C)-III, (D)-I 

 (4) (A)-IV, (B)-II, (C)-I, (D)-III 

177. The following equation describes the relationship 

between species and area. 

  logS logC Zlog A= +   

 What does the value of 'Z' indicate in this equation? 

 (1) The average lifespan of species in the area 

 (2) The rate at which species richness increases with 

increasing area 

 (3) The total number of species that a habitat can 

support 

 (4) The baseline species richness when the area is at 

its minimum (Y-intercept). 

 

 

 

 

 

176- lwph&I dks lwph&II ds lkFk lqesfyr dhft,A 

 lwph&I  lwph&II 

A. Liksaftyk I. ckgjh fu"kspu vkSj çR;{k 

fodkl 

B. Iyqjksczkfd;k II. cká fu"kspu ,oa vçR;{k 

fodkl 

C. fgIiksdSEil III. vkarfjd fu"kspu vkSj 

çR;{k fodkl 

D. dSyksfV~l IV. vkarfjd fu"kspu vkSj 

vçR;{k fodkl 

 uhps fn, x, fodYiksa esa ls lgh mÙkj dk p;u 

dhft,A 

 (1) (A)-III, (B)-I, (C)-IV, (D)-II 

 (2) (A)-IV, (B)-II, (C)-III, (D)-I 

 (3) (A)-II, (B)-IV, (C)-III, (D)-I 

 (4) (A)-IV, (B)-II, (C)-I, (D)-III 

177- fuEufyf[kr lehdj.k çtkfr;ksa vkSj {ks= ds chp laca/k 

dk o.kZu djrk gSA 

   logS logC Zlog A= +  

 bl lehdj.k esa ^Z^ dk eku D;k n'kkZrk gS\ 

 (1) {ks= esa çtkfr;ksa dk vkSlr thoudky 

 (2) og nj ftl ij çtkfr;ksa dh le`f) c<+rs {ks= ds 

lkFk c<+rh gS 

 (3) çtkfr;ksa dh dqy la[;k tks ,d fuokl LFkku dk 

ftUgsa vkokl lgkjk ns ldrk gS 

 (4) vk/kkjHkwr çtkfr;ksa dh le`f) tc {ks= vius 

U;wure ¼okbZ&vojks/ku½ ij gksrk gSA 

 

 

 

 

 



 

Space for rough work 

 

 

 

 

 

 

 

 

 

 

 

 

Narayana Jaipur HO: B.28, Gopalpura Bypass Road, 10.B Scheme, Near Ridhi Sidhi Circle, Jaipur, Rajasthan 302018 
(57) 

 

178. Match List-I with List-II. 

 List-I  List-II 

A. IUCN Red list I. Regions with high 

species richness 

and endemism 

B. Biodiversity 

Hotspots 

II. Forest patches 

protected by local 

communities 

C. Cryopreservation III. Storage of 

gametes at very 

low temperatures 

for conservation 

D. Sacred Groves IV. List of threatened 

and endangered 

species 

 Choose the correct answer from the options given 

below. 

 (1) (A)-I, (B)-IV, (C)-II, (D)-III 

 (2) (A)-III, (B)-I, (C)-IV, (D)-II 

 (3) (A)-IV, (B)-II, (C)-III, (D)-I 

 (4) (A)-IV, (B)-I, (C)-III, (D)-II 

179. Which of the following correctly explains the roles 

of hormones in female reproductive physiology? 

 (1) Only cortisol regulates the basal metabolic rate 

during pregnancy, while thyroxine initiates the 

foetal ejection reflex during parturition. 

 (2) LH stimulates the growth of ovarian follicles, 

while FSH triggers ovulation and maintains the 

corpus luteum. 

 (3) Progesterone inhibits the contraction of the 

myometrium during pregnancy, whereas 

oxytocin stimulates its contraction during 

parturition. 

 (4) Prolactin stimulates the ejection of milk from the 

mammary glands, while oxytocin promotes the 

synthesis of milk. 

 

178- lwph&I dks lwph&II ds lkFk lqesfyr dhft,A 

 lwph&I  lwph&II 

A. IUCN yky 

lwph 

I. mPp çtkfr;ksa dh 

le`f) vkSj LFkkfudrk 

okys {ks= 

B. tSo fofo/krk 

g‚VLi‚V 

II. LFkkuh; leqnk;ksa }kjk 

lajf{kr ou iSp 

C. Øk;ksfçtosZ'ku III. laj{k.k ds fy, cgqr 

de rkieku ij 

;qXedksa dk HkaMkj.k 

D. ifo= miou IV. ladVxzLr vkSj 

yqIrçk; çtkfr;ksa dh 

lwph 

 uhps fn, x, fodYiksa esa ls lgh mÙkj dk p;u 

dhft,A 

 (1) (A)-I, (B)-IV, (C)-II, (D)-III 

 (2) (A)-III, (B)-I, (C)-IV, (D)-II 

 (3) (A)-IV, (B)-II, (C)-III, (D)-I 

 (4) (A)-IV, (B)-I, (C)-III, (D)-II 

179- fuEufyf[kr esa ls dkSu efgyk çtuu 'kjhj fØ;k 

foKku esa gkeksZu dh Hkwfedk dh lgh O;k[;k djrk gS\ 

 (1) dsoy dksfVZlksy xHkkZoLFkk ds nkSjku vk/kkjh; 

mikip; nj dk fu;eu djrk gS] tcfd 

Fkk;jksfDlu çlo ds nkSjku Hkzw.k mRlxZu izfrorZ 

'kq: djrk gSA 

 (2) LH v.Mk'k;h iqVd fodkl dks izsfjr djrk gS] 

tcfd FSH v.MksRlxZ dks 'kq: djkrk gS vkSj 

d‚iZl Y;wfV;e dks cuk, j[krk gSA 

 (3) çkstsLVsjksu xHkkZoLFkk ds nkSjku ek;ksesfVª;e ds 

ladqpu dks jksdrk gS] tcfd v‚DlhVksflu çlo 

ds nkSjku blds ladqpu dks mÙksftr djrk gSA 

 (4) çksySfDVu Lru xzafFk;ksa ls nw/k ds mRlxZu dks 

mÙksftr djrk gS] tcfd v‚DlhVksflu nw/k ds 

la'ys"k.k dks c<+kok nsrk gSA 
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180. Superior & inferior vena cava opens into - 

 (1) Right auncle 

 (2) Left auncle 

 (3) Right ventricle 

 (4) Left ventricle 

180- vxz rFkk i'p egkf'kjk,sa [kqyrh gSa& 

 (1) nk¡;s vkfyUn esa 

 (2) ck¡;s vkfyUn esa 

 (3) nk¡;s fuy; esa 

 (4) ck¡;s fuy; esa 

 


